24. AREA

FUNDAMENTAL CONCEPTS

I. Repults on Triangles :

Iv.

1

Z

a

=1 & =

=

Sum of the angles of a triangle is 180",
The sum of any two sides of a triangle is greater than the third side.
Pythagoras Theorem : In a right-angled triangle,

(Hypotenuse® = (Hase)? + (Height)?,

. The line joining the mid-point of a side of a triangle to the opposite vertex is called

the median.

. The point where the three medians of a triangle meet, is called ceatraid. The

centroid divides ench of the medians in the ratio 2 ; L,

. Im an isosceles triangle, the altitude from the vertax bisects the base,
. The median of a triangle divides it inte two triangles of the same area.
. The area of the triangle formed by joining the mid-points of the sides of a given

triangle is one-fourth of the area of the given triangle.

Resulls on Quadrilaterals :
1" The diagonals of a parallelogram bisect cach other

W e B kD

=

Each diagonal of a_puraliclogram divides it into two triangles of the same area.

. T diagonals of a rectangle are equal and bisect each other

- The diagonals of a square are eguasl and bisect each other at right angles.

. The diagonals of a rhembus are unequal and bisect each other at right angles.
. & parallelogram and a rectangle on the same base ard between the same parallels

are equal in area.

. O all the paralielogram of given sides, the parallelogram wl‘ur_h iz & rectangle has

the greatest area.

IMPORTANT FORMULAE

. Area of a rectangle = (Length x Breadth),
Area Area |
[ = [ nd ( L
Angth = |5 J and Breadth = 5 )

Perimetor of o rectangle = 2 (Length + Breadth),
Arean af & square = (aldef® = % (diagonal)®.
Area of 4 walls of a reom = 2 (Length + RBreadth) » Height.

. Area of a triangle = %Iﬂmi{liﬁdﬁlt.

. Area of a triangle = Js(s=a)is = bi(s-¢), where a, b, ¢ are the sides of the

triangle and 2 = % (o + B+ )
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4, Radius of incircle of an equilateral triangle of side a = fﬁ'

(]

. Radius of circumeirele of an equilateral triangle of side a = f:-;

6. Radivs of incircle of a triangle of area A and semi-porimeter & = i.
7
V. 1. Area of a parallelogram = (Base » Height).

el

Area of a rhombus = %h (Preduct of diagonals)

A Area ol a trapegium = %x (pum af parallel =ides) = distance between them.

V1. 1. Areaaf a arcle = ﬂHi, where H iz the radius,
2. Circumference of & circde = 2nl.

3. Length of an arc = Enﬂﬁ. where ft is the central angle.

=RA
360

4. Arca of o seclo? = %I_nrﬂs}t] =

H‘i
VII. 1. Area of a semi-circle & —

2. Circumference of a semi-circle = aR

SOLVED EXAMPLES

Ex. 1. Oae side of & rectangular fleld iz 15 m and one of ite diagonals is 17 m. Find
the srea of the field.

Bol. Other side = J(17P - (16 - 289 - 235 - V64 - 8 m.
s Arca = (15 x B) m? = 120 m®.
Ex. 2. A lawn is in the form of & rectangle having its sides in the ratic &: 3. The

I
area of the lawn is T hectares. Find the length and breadth of the lawn.
Bol. Let length = 2x metres and breadth - 3x metres.

Now, area = r%ulﬂﬂﬂ} m® - |@1| me.
L

Eu.i:k:!.r-?%? - .- ﬂm

..[5?

Iﬂgﬂi-&:lgﬁm Riimundﬂreudth-'ix- Ex?1w=ﬁﬂm.

Ex. 3. Find the cost of carpeiing & room 15 m long and 8 m broad with a carpet
75 cm wirde at the rate of R 1240 per squars metre.

Sol. Area of the carpet = Area of the room = (13 x 9 m* = 117 m*,
Arvea | | 4
I f th t =|—— | ={117Tx— | m = 158 m.
£ngth of the carpe [Widl.h; \ 3 3

& Cost of carpeting = Rs, {156 = 12400 = Ha, 103440,
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Ex. 4. If the diagonal of & rectangle is IFMIdﬁihnﬁfhp-nm-Hrm 45 =m, find
the area of the roctangle.

Bol. Let length = x and breadth = v, Then,
Zix-p=dbor x4 ¥= 23 and 2 + ¥ = (17F = 288,
Mow (x + 7% = (237 o= (@4 3%+ 2o =529 = 289+ 2y = 529 & xy =120
Area = xy = 120 cm?.

E:.ﬁ The length of a rectangle is twice its breadth. If its length is decreased by

& em and breadih is increased by 5 cm, the ares of the rectangls iz increased by
76 8q. cm. Find the length of the reciangle.

Sol. Let breadth = x Then, length = 2x. Then,
(Bx=5lx+B-2xxxr=Th & Hxr=25=7h = x=320
Length of the rectangle = 20 em.

Ex. 6. In meaguring the sides of & roctangla, one side is taken 5% in excess, and the
other 4% in daficit Find the error percant in the ares salealated from these messuramants,

(M. B.A. 2003)
Sol. Let x and v be the sides of the r-pﬂ.ung:le Thm‘ Correcl area = xy.

106 7 [
Caleulated aren = | —

ST l 3'| 00 >

: g 4
Error in measurement = | —— xv |- 2y = — =¥,
[mu 2 o Rl s
Error % = |- L x-:-l-xlm-%—iﬁ—ﬂ.ﬂ'%.
EDIII v L

Ex. 7. A rwun.:uhr grassy plot Hﬂ m by 65 m has a gravel path 2.5 m wide all
round it op the inside. Find the soet of gravelling the path of 50 paise per 55. matre,
Bol. Ares of the plot = {110 = 85) m% = T160 m?
Area of the plot excluding the path = [(110 = 5)x (65 - 5)] m® = 6300 m”.

Area af the path = (7150 = G300) m* = 850 m®.
i i
Cost of gravelling the path = Rs. |E‘.:1Ij-*=: %j = Rx. GBOL

Ex. 8. The perimeters of two squares are 40 cm and 32 em. Find the perimeter of
a third square whose areéa is equal to the difference of the areas of the two squAres,
(8.5.0. 2003)

!

Sol.  Side of firat square [-‘i—':': em = 10 em;

Side of second 5!]_!..I.ET‘E'|%£I; e o= 8 e,
Area of third sguare = 102 - (8% em? = (100 = 84} em® = 36 cm?®.

Side of third square = 36 em = & om
Fequired perimeter = {6 » 4) cm = 24 em,
Ex. 8. A room 5m §5 cm loog and 3m 74 cm broad is to be paved with square tiles.
Find the least number of square tiles required to eover the floor
Bol. Area of the room - (H44 = 3T4) em®,
iz of largest square tale = HOF of 544 cm and 374 cm = 34 emo
Area of 1 tile = (34 x 34) em®,
Number of tiles required = | 223741 _ 1
Od =34
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Ex. 10. Find the ares of & square, -ooe¢ of whose diagopals /s 3.4 m long.
Bol. Area of the square = %:—: idiagonal P = [%HE.HKLLH] mt = 7.22 m®.

Ex. 11, The diagonals of two squares are in the ratio of 2: 5. Find the ratio of their
Arcas. {(Bection (Mficers’, 2003)
Bal. Let the diagenals of the squares be 2 and S5x respectively

Ratio of their areas - :—Exﬂ;]&;imﬁti" = 427 ; 25 = 4 : 25
Ex. 12. If vach side of & square is iocremsed by Z5%, find the percentage change in

its area.
Bal. Let each side of the square be a. Then, area = a°
g A 3 2
: 125a  Gao _ (82} _ 26a
New side = ol 4.:4:-!- url.'-n—{#ll_ s
i g
Increase in ares |{[ = u'J - —
| 18 16
a
Invrease & = ]'1.' = 20,

Ex. 13. IT the length of a certain rectangle ia decrsased by 4 cm and the width ie
inerensed by 3 em, & square with the same area a8 the origing] rectangle wouwld resuli.
Find the perimeter of the original rectangle.

Bol. Let x and y be the length and breadih of the reclangle respectively.

Thep, x—d=y-3orx=y=7 vl A}
Area of the rectangle - xy; Area of the square - (x = 4} ( ¥ + 3}
g=dip+ 3= = Ix-4yr=12 Lirh

Solving (1) and (if), we get x = 16 and y = 8.
Perimeter of the rectangle = 2 (x + 3 = [2 (16 + 9 cm = 50 cm.

E:: 14. A reom is half as long aguin ag it is broad. The cost of carpeting the reom
at Rs. 5 per eq. m is Bs. 270 and the cost of papering the four walls at Rs. 10 per m®
is Bs. 1720, If a door and 2 windows occupy 8 #g. m, find the dimensions of the room.

Bol. Lt breadth = x metres, length = % metres, height = H metres.

iy S
Total cost of r.:rp-enug'ﬁ = g = R T
Rate / m g

hrﬂnfthtﬂmr:[
Iﬂ%-ﬁiﬂ;-iﬁi'ﬂg]uﬂi @ I =
Bo, breadth = 8 m and Jaagth = [—-hEJnJ.:Hm.

Now, papered area - (%]mﬂs 172 m’.

Area of 1 door and 2 windowe - 8 m.
Total area of 4 walls = (172 + B} m? = 180 m2.

bl
200+6xH =180 & H=[2]_ ¢
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Ex. 16. Find the ares of & trinngle whose sides measure 13 em, 14 cm and 15 em.
Bol. Let a~=13, b= 14 and ¢ = 15. Then, = '%fﬂ#bi—t‘_:l = 21,
(F~al=B,(s—b)=Tand (- &l =6
Area = JJsils~alis-bi{s—c) = 21 xBxTxH = A4 em”

Ex. 15. Find the area of a right-angled triangie whose base iz 12 em and hypotenuse
18 em.

Bol.* Height of the triangle = .'I'n:-'iF-uzF em = Y25 om = 5 cm.

'
Its area = %Iﬂuerﬁuighl = i%rlﬂ:ﬁ] em® = 30 em?,
5

Ex. 17, The base of a iriangular ficld is three times its altitude. If the cost of
cultivating the fTeld at Rs. 24.68 per hectare be Ra. 338,18, find its base and height.

Tatal cost 33318
Sol. Area of the field = -
Rate [ 2468

= (13.5 % 10000) m* = 135000 m®.
Let altitude = ¥ metres and base = Sx mekres

]hﬂﬂnru:l&.ﬁheﬂw

ﬁm,%:ﬂ:x:-lw e ¥ = 90000 & r = 300

Bage = 000 m and Altilude = 300 m.

Ex. 18. The altitude drawn to the base of an isosceles triangle is 8 em and the
perimeter ig 32 cm. Find the area of the triangle.

Bol. Let ABC be the isosceles lnangle and AlY be the altitude. A
Lot AR = AC = ¥ Then, BC = (32 = Z¥),
Since, in an ieascolos triengle, the altitude bisects the base,
o BD = TMZ = (16 - x). z X
In AADC, AC? = AD? + DC? = o = (8F + (15 - 2P
= 12z =320 == x =10
BC = (32 — 2x) = (32 - 20) cm = 12 em. B D .

b
Henee, required area {%EDCE ADJl = [%:-: 12 = lﬂ] = B0 el
% &
Ex. 19. Find the length of the altitude of an equilateral triangle of side 33 cm.
Sel. Area of the triangle = —"Exraﬁr“ = ﬁ. Let the height be h

z?f E?J' 9
| -' -E'JI"- -ﬁ .h -_—=
b T 3 4.5 cm.
Ex. 20. In two triangies, the ratio of the arsas fs 4 : ¥ and the ratio af their heights
is & : 4. Find the ratio of thelr bages,

Bol. Let the bases of the two triangles be x and yand their heights be 3k and 45 respectively

Then,

-1-‘#&:13#

g R i_[i,,i]-ﬁ
;:t::r::nﬂl 3 ¥ g

Required ratio = 16 : 9.
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Ex. Z1. The base of a parallelogram is twice its height. If the ares of the parallelo-
gram fs T2 ag. em, nd fts haight,

Sol. Let the height of the parallelogram be x em. Then, base = (2x) em.
xx=72 = If8=12 o =3 = =6
Hence, height of the parallelogram = 6 em.
Ex. 22. Find the area of a rhombus coe side of which measures 20 cm and one
disgenal 24 cm.
Sel. Lel other diagonal = 2x cm.
Sinee diagonals of a rhombus bisect each other at right angles, we have !

20F = (120 +2® & x = 120 =01® - 4266 - 16 cm.
Eo, other diagonal = 32 cm.

Area of thombus = %x{l’fndwt of diagonals) = [%xﬂx-ﬂ] em® = 384 em®

Ex. 23. The difference beftween fwo parallel sides of & trapezium is 4 em. The
perpendicular distance between them iz I8 cm. If the area of the trapezium is 4T85 eme,

find the lengths of the paralle] sides. (B.E.B. 2002)
Sol. Let the two parallel sides of the trapezium be 4 ¢m and b cm.
Then, a - b= 4 vk}
T
And,%x':atblxlﬂ 475 e [ﬂ*b:"[li 5;2] ey a@+b = 50 vl A2

Sobring (i} and (i), we get : a = 2T, b= 23,
So, the two parallel sides are 27 cm and 23 em.
Ex 24. Find the length of & rope by which a cow must be tethered in order that it
may be able to graze an area of 9856 5g. motres. (M.AT 2003)
Bol. Clearly, the cow will graze a arcular field of area 9856 &q. metres and radius equal
to the length of the rope
Let the length of the rope be R metres.
Then, nR* = 0856 = R® = [EH.-‘iﬁx .2‘_] = 2136 = R =56
Length of the rope = 56 m,
Ex 2Z5. The area of & circular field iz 15.56 hectaress. Find the cost of fencing it &t
the rate of Re. 4.40 per meire.

Bol. Area = (13.86 » 10000) m? = 138800 mée,

i 3
ait? = 138800 R"=|:|r’r.¢.-ﬁn:li‘.:? = R =210 m

]
s

Circamiflerence = 23l = |H " = :-c'.E:IIII'W.I m = §330 m.

7 )
Cost of fencing = Hs. (1320 = 4.40) = Hs, 5508

Ex. 26, The diameter of the driving wheel of a bus 15 140 ¢m. How maay revolutions
per minuie must the whee! make in order to keep & speed of 66 kmph 7

Bol. [Misiance {o be covered in | min. = [ - m = 1100 m.
L1 .I

i
Circumference of the wheel - [2:- "?T—':-e G.T[r] m s 4.4 m.

L0
4.4

Number of revelutions per min, = [

] = 250,
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Ex. 27. A whee! makes 1000 revolutions in covering a distance of 88 km. Find the
radius of the wheel.

Bol. Dislance covered in ene revelution = f%] m = 88 m.
L

Bl = B8 o 2x kB = BE e R::.E.Elrl]=l-i .
7 \ 44
Ex. 28. The inner circumfersnce of @ circular race track, 14 m wide, ig 440 m. Find
the radius of the outer circle.

3
Sol. Let inner radiuz be r metres. Then, 2or = 440 = r = [d.mhc*;.;j = T0 m.

Radius of outer circle = (70 + 14) m = B4 m.
Ex. 29. Two concentric circdles form o ring The inper and outer circumferences of

the ring are Sﬂg m and ?-5; m respectively. Find the width of the ring.

Bal. Let the inner and suter radii bs r and B metres.

rrhlﬂ'.l,hl'="$—52 =3 r:rﬁglxl]_ﬂ.m

7 () 2 2
628 [828 T 11
i 1) 7 — R.ENTEEKE_,::[E“'

Width of the ring = (R = Fl = (12 - 8} m = 4 m,

Ex. 30. A sector of 120F, cut out from & circle, has an srea of 9:— &, em. Find the

radius of the circle. (C.R.I. 1987)
Bol. Let the radius of the circle be r cm. Then,
o 66 22 s 120 _ 66 66 T
E T = ?Hr :ﬁ_—i LR .r":[?xﬁn-ca]=9 = r=J.
Hence, radius = 3 em.
Ex. 31. Find the ra:.« of the areas of the incircle and cireumeirele of 8 square.

Sol. Let the side of the square be x Then, its diagonal = 2 x.

Radius of incircle -%m =
=
: 2
radiug of droumcrde = V2 2 .
NZ
. 3
wkired rtls = | o2 ) L, 1 L 4ln

T N

Ex. 32. If the rudius of & circle is decreased by 50%, find the percentage decrease
in its area.

Bol. Let original radivs = B. New radius = ﬂﬂ = E.

L0k 2
Exl* _ =R?
2} +4

Original area = A2 and New area = n[

x— 100 % = 7E%
nR? |
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EXERCISE 24A
(OBJECTIVE TYPE QUESTIONS)

Directions : Mark (+) against the correct answer :

1.

1

10,

11.

The length of a room is 5.5 m and width is 3.75 m. Find the cost of paving the floer
by slabs at the rate of Rs, 500 per sq metre (IGNOU, 2003)

(2] R=s, 15000 (b Rs, 15,550 (&) Hs. 15600 {d) Ks. 16500
The length of a rectangle is 18 em and itz breadth iz 10 em. When the length ie
increased to 25 cm, what will be the breadth of the rectangle if the area remains the
game 7

(a) T cm (b 7.1 em (eh 7.2 em id}l 7.3 om

A rectangular plot measuring % metres by 50 motres is to be enclosed by wire fencing.
If the poles of the fenee are kept 5 metres apart, how muany poles will be negded ?
{al 55 ih) bE ich &7 (d) 58

The length of & rectangular plot is G0% more than its breadth. If the differvnce
between tho length and the broadth of that reciangle i= 24 em, what is the aren of
that rectangle 7 {Bank PO. 1558)
{a) 2400 sq. em () 2480 sq. cm fcl 2560 2q. em
(dl Data inadequate {e) None of thess

A rectangular parking space is marked out by painting three of its sides. If the lemgth
of the unpainted side is 8 feet, and the sum of the lengths of the printed sides iz
37 feet, then what is the area of the parking space in square feet 7 (M_AT 2003)
(2] 46 (b &1 (e 126 (d] 252

The difference between the length and breadth of a rectangle is 23 m. If its perimeter
is 206 m, then its area is (Section Officers’, 2003}
(a) 1520 m* (B) 2420 m* (o 2480 m?* (dy 2520 m?
The length of & rectangular plot is 20 metres mare than its breadth. If the cost of
fencing the plot @ Re. 26.50 per metre is Rs. 5300, what is the length of the plot in
metres ? {(Bank PO. 1595)
(a} 40 (&) 6O {ch 120

{d) Data inadequa e {g} None of these

The breadth of a reclangular feld is 60% of its length. 1 the perimeter of the feld
is 800 m, what is the area of the field 7

{a) 18750 sq. m {b) 37500 sq. m (e 40000 sg. m (d) 48000 gg. m
The ratio between the length and the perimeter of a rectangular plot is 1 ; 3. What
is the ratie between Lhe length and breadth of the plot ?

) 1:2 iby 21 L B id} Datas inadeqaate
The ratio between the length and the breadth of a rectangular park is 3 : 2. If a man
cveling alang the boundary of the park at the speed of 12 km / hr completes ane round

in 8 minutes, then the area of the park (in sq. m) is : (8.8.C. 2003)
(o) 15360 [h 163600 {e) 30720 (d) 30T200

The length of a rectangular hall is 5 m more than its breadth. The area of the hall
is 750 m®. The length of the hall is : (8.8.C. 2004)
ta) 15 m (b 328 m {c) 25 m b A0 m

The area of a rectangie is 460 square metres. If the length is 15% more than the
breadth, what is the breadth of the rectangular field ? (Bank PO. 2003)
(al 16 metres (Bl 26 metres (el 34,5 metres

(d Cannot be determined (¢l Hone of these
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16,
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18,

19,

1.

507

A rectangular field is to be fenced on three sides leaving a side of 20 feet uncovered.
If the area of the Neld = 630 s, feet, how many feet of fencing will be required ?

(s} 34 (b} 40 (e) 68 {d) B8
(R.R.B. Z002)

The ratio between the perimeter and the breadth of a rectangle is 5 : 1. If the area
of the rectangle is 216 sq. em. what is the length of the rectangle ?

(gl 16 em (bl 18 ¢m [e} 24 cmm
(d) Data inadequate (gl None of these (B.5HRE. 1008)

A farmer wishes to starl s 100 sqg. m rectangular vegetable garden. Sinee he has only
A0 m barbed wire, he fences three sides of the gurden letling his house compound wall
act ag the fourth gide fencing. The dimension of the garden is : (R.R.B. 2003)

B 1 m=~88Tm (M2 m=5m (B atm=333m (dH4dmx25m

The sides of a rectangular field are in the ratio 3 : 4. If the area of the Geld is
TH00 = m, the cost of fencing the feld & 25 paize per metre i3 - (H.RB. 2004)

(a) Rz, 55.50 (b} Re. B7.50 {#) Rs. B6.50 {d) Hs. BT.50

A rectangle of certain dimensions 15 chopped off from one F Q.

cornér of o lorger rectangle as shown. AR = 8 oo and R, !

BC = 4 em. The perimeter of the figure ABCPQRA (in cm} Q i

ia: (Asatt. Grade, 1998) b
A B o B

(a) 24 ib) 28 ic) 36 (d) 48

A large field of 700 hectares is divided into two parts, The difference of the areas of
the two parts iz onc-fifth of the average of the two arcas. What 15 the area of the
smaller part in heetargs 7

(a} 225 (i) Z80 {c) 3040 [d} 315

A rectangular paper, when folded inte two congruent parts had a perimoler of 34 em
for each part folded along one got of sider and the same is 38 em when folded alang
the other set af sides, What is the area of the paper 7 (8.5.C. 2000}

[#) 140 cm? (B} 240 ¢m? (el 560 em? [d} Mone of these

A rectangular plot is half as long agam as it is bread and its area is % hectares. Then,

its lemgth is :
fa) 100 m (b 3233 m e BB.6E m L] L.?a{

A courtyard 25 m long and 16 m broad is to be paved with bricks of dimensions 20 cm
by 10 em. The total number of bricks required is :

(a) 1EGMOG (bF 20000 () 25000 {d} None of these

The cost of carpeting a room 18 m long with & carpet 75 em wide at Ha. 4.50 per metre
iz Ra. B10. The breadth of the room is :

{a) T m (b} 7.5 m (ch & m (dl 8.5 m

. The diagonal of the floor of a rectangular closet ie ?—;- feet. The shorter side of the

closct is -1% feet, What 12 the srea of the closet in square feet T (M.B.A. 2003)

i ) 13% el 27 (dy 37

e e

fal &
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The length of a rectangle is three times of its width_ If the length of the diagonal is

8410 em, then the perimeter of the rectangle is : (8.5.C. 2000)
{a) 15010 em (b) 16410 em (¢} 24410 em (d) 84 em

The diagonal of a rectangle is thrice its smaller side. The ratlo of the length o the
broadth of the rectangle is
(MEES (b 43 :1 (ch 2 :1 (d) 242 ;1

A rectangular carpet has an ares of 120 2q. motres and a perimeter of 48 metros, The
length of its diagonal is :

(2} 16 m (b} 16 m (e} 1T m (d) 20 m
The diagonal of & rectangle is i1 em and its area is 20 5q. em. The perimeter of
the rectangle must be . (Hotel Management, 2002)
(@i 9 cm (b 18 cm (e} 20 em () 41 cm

A took 15 seconds to cross a rectangular feld diagonally walking at the rate of
52 m/min and B took the same time to cross the same field along itz sides walking
at the rate of 68 m/min. The ares of the fisld is - {8.5.C. 2003)

(#) 30 m? (b) 40 m? (&) 50 m2 (d} 60 m?*

A rectangular carpet has an area of 60 sq. m. If its diagonal and longer side together
egual T times the shorier side, the length of the carpet i3 ;

(&} & m (B) 12 m (¢} 13 m (dl 145 m

The ratio between the length and the breadth of & rectangular field is 3 ; 2. If only
the lenglh is increased by 5 metres, the new area of the field will be 2600 By metres,
What is the breadth of the rectangular fisld ?

(g} 40 metres {B) 60 metres {£] 65 metres
(d)] Cannot be determined (e} None of these

The length of a blackboard is & em more than its breadth, If the length is increased
by T em and breadth iz decreased by 4 cm, the area remaing the same. The length
and breadth of the blackboard (in em) will be

(a) 28, 20 (b} 34, 28 ich 40, 32 (d) 58, 48

If the length and breadth of a rectangular room are cach increased by 1 m, then the
area of floar is increased by 21 sq. m. If the length is increaszed by 1 m and breadth
is decreased by I m, then the area iz decreaced by & 2q. m. The perimeter of the floor

is ; (M.B.A. 2002)
Lay A0 m (b 32 m {el 38 m (d) 4 m

The percentape increase in the area of 5 rectangle, if each of itz sides is increased by
20°%, is : (M_AT 2004)
{a) 40% (b 42% (e 44% () 46%

A rectangle has  dth 2 and length b, If the width is decreased by 20% and the length
is increased by 10%, then what is the area of the new rectangle in percentage compared

toakk 7 (E.RB. 2002)
(@) BO0% (h) B&% (et 1105% (d) 120%

Il the length and breadth of & rectangular plot be increased by 60% and 204% respectively,
then how many times will its area be increased 7 (Bank RO. 2003)
(a) :% (b) 2 o 83 () 4% (&) None of these

]

A towel, when bleached, was found to have lost 20% of its length and 10% of iis
breadth. The percentage of decrease in area is : (M.IFET. 1957

el 10% [D¥ 10.08% L& 20% id) 28%
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The length of a rectangle is halved, while its breadth is tripled. What is the percentage
change in area 7 (8§.8.C. 2000)
(a} 26% increase (b)) 50F% incremse {c) 50% decrsase (d) TH% deorvase
The length of a rectangle is decreased by %, and the bresdth is increased by (r+ 5)%.
Find r. if the area of the reetangle is unaltered. (BCMHED, 2002)
lad 5 (b B (c 10 idl 15 L 20
The length of a reetangle is increasod by 604%. By what percent would the width have
tr be decreased so as to maintain the same area ? (MAT. 2003)
(al 3‘.'%‘:. (b) BO% (e} 5% (d) 120%
. If the area of a rectangular plol increases by 30% while its breadth remains same,
what will be the ratic of the arcas of new and old figures 7 (Bank B0, 2003)
() 1:% (31 ich 417 (el 10 : 13 (a8 Mone of these

A typist uses a sheet measuring 20 em by 30 em lengthwise, If a margin of £ cm is
lefi. on each side and a 3 cm margin on top and bottem, then percent of the poge used
for typing is : (MAT 1998)
Cay 40 (b B0 (¢l G4 {d) T2

A room is 15 feet bong and 12 feet broad A mat has to be placed on the floor of this

room leaving 1% feet space from the walls, What will be the cost of the mat at the

rate of Be. 3.50 per square feet 7 (R.R.B. 2002)
(a) Ra. 378 (k) Re. 472.50 le) R 498 (d) Rs. 630

What will be the cost of gardening 1 metre hroad boundary around a rectangular plot
having perimeter of 340 metres at the rate of Rs. 10 Per square metrs T

{ah Rs. 1700 (i Rs. 3400 (el Re, 3440
(dl Cannot be delermined (& Mone of these (Bank FO. 2003)

2 motres broad patheay is to be consiructed around a rectangular ploi on the inside.
The area of the plot is $6 sg. m. The rate of construction is Rs 50 peF Square metre.

Find the total cost of the ssnstruction. (S.B.LPO. 2000)
{al Hs, 2400 (hl Ra. 4000 {e) Rs. 4800
(dt Data inadequuite (¢l None of these

Within a rectangular garden 10 m wide and 20 m long, we wich to pave a walk around
the borders of uniform width so as to leave an area of 95 m? for flowers. How wide
should the walk be *

{al 1 m (M 2 m el 21 m idl 25 m

A rectangular lawn 55 m by 35 m has two roads sach 4 m wide running in the middle
of it, one parallel to length and the other parillel to breadth. The cost of pravelling
the romds at 75 paise per g, metre i@ ;

(2] He 26450 (b} Ra 258 () Rs. 26250 id) Rs. 270

A rectangular park 60 m long and 40 m wide has two concrete crossroads running in
the middle of the park and rest of the park hag been veed as a lawn. I the area of
the lawn is 2109 =q. m, then what &= the width of the road ? {M.A.T. 1987T)
() 281 m (B3 m (ch 582 m {dl Mome of these
A housing society has been allotted a square piece of land measuring 2550.25 gq. m.
What ie the side of the plat 7

{al 5025 m (b1 5056 m (o) BOGE m (dy Monc of these
The cost of cultivating a square field ot the rate of R=. 135 per hectare is Rs. 1215,
The cost of putting a fence around it at the rate of 75 paise per metre would be -
la} Ks. 360 (b)Y Rs. 810 (ch Rs. 900 d) Ke. 1800
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The perimeters of five squares are 24 cm, 32 ¢m, 40 em, 76 em and 80 cm respectively.
The perimeter of another square equal in area W the sum of the aress of these squares
is : (8.5.C. 2004}

{a} 31 cm (b} 62 cm ic) 124 cm {d) 861 cm

The number of marble slabe of size 20 cm = 30 em required to pave the floor of &
pquare room of gide 3 metres, is :

‘(a) 100 (b} 150 (e} 225 {d) 280

50 square stone slabs of equal size were needed to cover a floor area of 72 sq. m. The
length of each stone slab is (5.5.C. 2003}
la) 102 em (b 120 am {el 201 om (d) 210 cm

The length and breadth of the floor of the room are 20 feet and 10 feet respectively
Equare tiles of 2 fect length of different colours are to be laid on the foor Black tiles
are laid in the first row on all sides. If white tiles arc laid in the one-third of the
remaining and blue tiles in the rest, how many blue tiles will be there 7

{a) 16 i 24 {c) 32

id) 48 (e None of these (5.B.1.FO. 2000)
What is the least number of square tiles required to pave the floor of @ room 15 m
17 cm long and 9 m £ cm broad ? (3.5.C. 2003)
(a) B14 (b} B20 ° (e} R40 id) Bd4

A rectangular room can be partitioned inte two equal square rooms by a partition
T metres long. What is the sres of the rectangular reom in squoare motres 7
(a) 49 (b) 147 te) 106 (d) None of these
The perimeter of a square is 45 cm. The area of a roctangle is 4 cm? less than the
area of the square, If the length of the reclangle is 14 cm, then its perimeter is :
la] 24 em (b] 48 em fc) 50 em (dl 54 em
(5.8.C. 2002)
The area of a rectangle is thrice that of & square. IT the length of the reclangle is

3
40 ern and its breadth is 2 times that of the side of the square, then the side of the
BOuaTo is ! '
(ay 15 em (bl 20 em {ed 30 em e R

If the perimeter of a rectangle and a square, each iz equal to 80 cm and the difference
of their areas is 100 sq. cm, the sides of the rectangle are

La} 25 cm, 15 em (b} 28 em, 12 cm {g) 30 em, 10 cm (dy %5 em, 16 em
The cost of fencing a square field @ Rs. 20 per metre is Bs, 10,080, How much will
it cost to lay a three metre wide pavement along the fencing inside the field @ Ra, 50
por sq. mekne ?

(m) Rs. 37350 iby Rs. 73,800 (e) Re. T7.400 (d) None of these
A park square in shape has a 3 metre wide road inside it running along its sides. The
area occupied by the ropd is 1764 square metres. What is the perimeter along the

outer edge of the romd 7 [(Bank PO. 1988)
(&) BT metres (bl GO0 metres (g} 640 motres
(di Data inadequate {0l None of these

A man walked disgonally acrese a square lot. Approximately, what was the percent
saved by not walking along the edges 7 (M.B.A. 2003)
L&) 20 (B 24 [ch 30 {dy 43

« A man walking at the speed of 4 kmph crosses a square field diagonally in 3 minutes,

The area of the Geld s -
ia) 18000 rm? (b} 15000 m® (¢} 20000 m? (d} 28000 m?
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If the length of the diagonal of a square is 20 em, then itz perimeter must be :
() 1042 em () 40 em (¢l 4042 em {d) 200 em
{R.R.B. 2008)
The arca of a square field is 69698 cm®. lts diagonal will be equal o :
(o) 313,296 m (b} 353296 m (g 373.298 m id) 393206 m
13.5.C. 1598)
What will be the length of the diagonal of that square plot whose aren is equal to the
area of a rectangular plot of length 45 metres ond breadth 40 metres 7
(&) 42.5 metres (bl 60 motres ey 76 metres
{di Data inadeguate i¢d None of these (Hank PO, 1994)
The length of a rectangle is 20% more than its breadth. What will be the rato of the
area of a rectangle to that of a square whose side 15 equal to the breadth of the

rectangle ? (Bank FO. 2000)
1 B | (b 5:86 el G:h
(d) Data inadequate {g} None of these

A square and a rectangle have equal areas. If their perimeters are py and py, respoctively,
then :

a) p, < py B py=p el py > py {d) None of these
If the perimeters of a square and a rectangle are the same, then the area A and B
enclosed by them would zatisfy the condition -

) A<B iby A=B iDA=B (drAzB

The diagonal of & square is 442 cm. The diagonal of another square whose ares s

double that of the first square, is : | {5.5.C. 2002)

{a) 8 em (b} 842 em (6} 442 cm (d} 16 em

The ratio of the area of a square to that of the square drawn on its diagonal, s -

(a)1;2 (b 2:%8 (ch 3:4 (d) 4:5
(IGNOU, 2003)

The ratie of the arcas of two squares, one having its diagonal double than the other,
=

(&) 2:1 (b 2:3 ek 3 ;1 (d) 4:1

If the ratio of areas of two squares is 225 : 258, then the ratio of their perimeters is :
{a} 825 : 256 (b) 256 : 225 {ch 15 : 16 (d) 16 : 16
(8 8.C. 2004)

Of the two square fields, the area of one is 1 hectare while the other one is broader
by 1%. The difference in their areas is :

{a) 100 m*® (b 101 m? ie) 200 m? (d} 201 m?
If each side of a square is increased by 50%, the ratio of the area of the resulting
squarg Lo that of the given square is -

(2l 4:5 by 6 :4 (e 4:0 idr9:4

What happens Lo the arca of a square when its side is halved ? Its area will

(a) remain same (5} become half (o become one-fourth () beomme double
(R-R-B. 2003)

An error of 2% in excess is made while measuring the side of a square. The pereentage

of error in the calculated area of the square is : (C.D.E. 2003)

la) e (b Bo2% {al 4% (i 4.04%

If the area of a square increases by 60%, then the side of the square increases by :

(a) 13% (b 30% (e 39% (d) 69%

(M.A.T. 1998)
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If the diagonal of a square i made 1.5 timesz, then the ratio of the areas of two squares
s :

(&) & : 3 (b)d -5 (el 4:7 (d) 4 : 9

The length and breadth of a square are increased by 40% and 3% respectively. The
ares of the resulting rectangle exeessds the area of the square by @

{2} 35% (B 42% {ol 6% [d} £2%

The length of one pair of opposite sides of a square is increased by § cm on esch side;
the ratio of the length and the breadth of the newly formed rectangle becomes 3 ;@ 2.

What is the area of the original square 7 (Bank FOD. 1904)
{a) 25 sq. cm (B} 81 8q. cm (g 100 sg. em
{d} 226 sq. cm (¢ Mone of thesze

If the side of & square iz increased by 5 cm, the area increases by 165 sq. cm. The
side of the square is :

{al 12 cm (k19 em {el 14 em (d} 15 em

“W dlﬂnmnm nr l.bul‘ Hras -Il'r Lwris nr!l.u-lrlu. I:lmwn on Lwao Illl'l.' ::ngl:nﬂ-u.l_': l; I!“‘rﬂmll.
lengths 15 32 sq. cm. Find the length of the greater line segment if one 15 longer than
the other by 2 em. (5.5.C. 2003)
{a) T em (b) O em {e) 11 em (d) 16 em

. The areas of a square and a reclangle are equal, The length of the rectangle i3 greater

than the length of any mide of the square by 6 em and the breadth is less by 3 cm.

Find tho perimater of the rectangle. (B.8.C. 2002
{gl 17 cm (h) 26 cm i) 30 em (d) 34 em

A tank i 25 m ImH;, 12 m wide and B m d.Hl:l. The eost af plu:bn'ng' ke walls and
bottom at 75 paise per sq. m, is : (C.B.I. 1997
(&} Hs. 458 (k) Bs 458 {¢) B=, 558 (d) Bs. 588

The dimengions of 4 room are 10 m = 7 m x 5 m. There are £ doorz and 3 windows
in the room. The dimensions of the doors are 1 m = 3 m. One window is of size
2m % 1.6 m and the other two windows are of size 1 m x 1.5 m. The cost of painting
the walls at Bs. 3 per m® is :

{al Ha. 474 (k) =, 57850 {cl Hs, G54 [d} K= 0594

The cost of papering the four walls of & room = Bs, 475, Each one of the length, breadth
and height of another room iz double that of this room. The cost of papering the walls
of this mew room ig @

lal Hs. T12.50 (b} Rs. S50 i) Ra. 1425 [d} K=, 15400
The ratio of height of & reom to its semi-perimeter is 2 : 5. [t costs R, 2680 to paper
the walls of the room with paper 50 em wide at Ra. 2 per metre allowing an area of
15 sq. m for doors and windews. The height of the reom iz :

(&l 26 m (b} 38 m (e 4 m (d} 4.2 m

The base of a triangle is 15 ¢m and height is 12 cm. The height of ancther triangle
of double the area having the base 20 em is : (S.8.C. 2002)
fal 8 am (b 8 em o) 12,5 cm [(di 18 am

ABC is a triangle with base AR D is a point on AB such that AB =§ and DB = 3,
What is the ratio of the arca of A ADC to the area of A ARC ? (8.8.C. 2000
(my % 3 (by 3:2 () &2: 5 (dy3:5

The area of a right-angled triangle is 40 times its base. What is its height !

(& 45 cm (B 60 em (¢l B0 cm

(dl Data inadequate (&} None of these (B.E.R.B. 1998)
If the area of a triangle is 1176 cm® and base : corresponding altitude is 3 @ 4, then
the altitude of the triangle is (8.8.C, 20007

tal 42 cm (b} 62 em (e) &4 em (d) 56 em
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The three sides of a triangle are 5 cm, 12 cm and 13 cm respectively. Then, its area

(a) 1043 em® () 10V6 em® {c) 20 cm? (d) 30 cm?
The sides of a himglcaminihemﬁnnf%: % ! % If the perimeter is 52 ¢m, then
the length of the emallest side is : (M.AT 2004)
(@] 8 cm (b} 10 cm (e) 11 cm (d) 12 cm
The area of a triangle is 216 cm® and its sides are in the ratio 3 : 4 ; 5. The perimeter
of the triangle is : (8.8.C. 2004)
(2) B em (b 12 em (e} 38 cm {d) T2 em

. The sides of a triangle are 3 ¢m, 4 ¢em and 5 cn. The area fin cm®) of the triangle

formed by joining the mid-pointz of the sides of thiz triangle is : (8.8.C. 2003)

4 3
) 7 B3 (e) 3 d) 6

One side of a right-angled triangle is twiee the other, and the hypotenuose is 10 cm.
The area of the triangle is :

(&) 20 cm? (b 33% em? te) 40 em? (d} 60 cm?

The perimeter of a right-angled triangle is 60 em. Its hypotenuse is 28 em. The area
of the triangle is (M.B.A. 2002)
(&) 120 em? ib) 240 em? (¢l 300 em® {d] 780 cm?*

If the perimeter of an isosceles right triangle is {6+ 342} m, then the area of the
triangle is : (M.A.T 2003)
{a) 4.5 m? (b) 5.4 m? i¢) 8 m? (d) 81 m?

The perimeter of a triangle is 30 em and its area is 30 em®. If the largest side
measures 13 cm, then what is the length of the smallest side of the triangle ¥

{a} 3 em (b 4 em () & em (d) & em
(5.5.C. 2003)

If the area of an equilatersl triangle is 2443 sq. cm, then its perimeter is ;

() 245 em b 46 em ieh 12J6 em id) 96 em

The height of an equilateral trigngle is 10 om. s aren is : (8.5.C. 2003)

() % em® ib] 30 em? (¢} 100 em?® id) }&35. em?

From a point in the interior of an equilateral triangle, the perpendicular distanee of
the sides are J3 em, 243 em and 5J3 em. The perimeter (in cm) of the triangle is -

{a) 24 ih) 32 i) 48 (d) G4

If xis the length of 2 median of an egquilateral triangle, then its area is :

) 2 (B %H @ X2 id) i;_ix“

If the area of a square with gide & is equal to the area of a triangle with base a, then
the altitude of the Lriangle ix - (B.8.F. 2001)
&) % (b o (el 2a {d) da

An equilateral triangle iz described on the diagonal of a sguare. What is the ratio of
the area of the triangle to that of the square * (8.8.C. 2002)

@) 2: 43 (b) 4:+3 (&) 432 (e J3 : 4
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What will be the ratio between the area of o rectangle and the area of a Rangle with
ome of the sides of the rectangle as base and o vertex on the opposite side of the

rectangle 7 (ER.IEO. 1999
{a) 1:2 by 2:1 (e 3:1

(di Data inadeguate {g] Mone of theae

If an equilateral triangle of arca X and a square of area ¥ have the same permeter,
then X is : (C.D.5. 2003
(&) equal to Y (b} greater than Y

[¢) less than Y (d] legs than or equal to ¥

A aguare and an equilateral triangle have equal perimeters. If the diggonal of the
pquare is 12,2 em, then the area of the triangle is :

(@) 2442 cm® (b 2443 em® (el 4847 em® () 6443 cm®
The ratic of bases of two trianghes is x ; y and that of their areas is a : b. Then the
ratio of their corresponding altitudes will be : (8.8.C. 2004}

a b ; ' x -}
(&) ax : by ';bl‘-’-._'!' {ch ay : bz I:d}ﬂ"j
If the side of an equilateral triangle is decreased by 200, ils aren is decreased by :
lal 36% (b 40% (¢l 6% (o) 4%

(C.B.I 1997T)

If the height of a triangle is decreased by 40% and its base 15 mereased by 40%, what
will be the effect on its area 7 (E.B.LEQ. 2000)
(&) Wo change (b)Y &% decrease ) 16% decrease
(dl 1% incresse (¢ Nooe of these
[f every side of o triangle iz doubled, the area of the new triangle is K times the area
of the old one. K is equal o (R.E.B. 2003)
(a) 2 (b 2 (ch 3 (d) 4

One side of a parallelogram is 18 em and s distance from the opposite side is B cm.
The area of the parallelogram is -

{a) 4% em? {B) 72 em® (eh 100 em® (d) 144 cm®

A parallglogram hasz gides 30 m and 14 m and one of its diagonals is 40 m long. Then,
il area is ;

{a) 188 m® (b) 336 m’ () 372 m? () 480 m?
Ome diagonal of a parallelogram is 70 ¢m and the perpendicular distance of this
diagonal from either of the outlying vertices is 27 cm. The area of the parallelogram
{in 2q. cm) iz -

{a) 1800 by 1836 (¢) 1890 (d) 1980

A triangle and o parallelogram arc constructed on the same base such that their areas
are oqual, If the altitude of the parallelogram is 100 m, then the altitude of the
trinngle is : {M.AT. 2008)

(a) 1042 m (B 100 m (&) 10042 m (d) 200 m

If a parallelogram with area P, a rectangle with area It and a triangle with area T
are all constructed on the same base and all have the same altitude, then which of
the following statements is Falsc 7

(al P=R (b P+T=2R () P=2T W T=0{1/2 R
The area of a rhombus is 150 em®. The length of one of its diagonals is 10 cm. The
length of the other diagonal is : (8.8.C. 2004)

(a) 25 em (b)) 30 e {¢) 35 cm (dh 40 cm
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D of the diagenals of a rhombus is double the other diagonal. Iis area is 25 sq. cm.
The sum of the dingonals is : (8.8.C. 200a)
(@) 10 em (b} 12 em (el 15 cm {d) 16 em
The porimeter of a rhombus i 56 m and its height is 5 m. Its area is :
io) B4 g, m (b TO sq. = (& 78 6q. m {d) 84 g m
If the diagonale of a rhombua are 24 ¢m and 10 cm, the aréa and the perimeter of
the rhombus are respectively ;
(a} 120 em®, 52 em (b)) 120 ¢m®, 64 cn () 240 em?, B2 cm {d) 240 em?, B4 em
Each side of a rhombus is 26 em and one of its dingonals is 48 cm long. The srea of
the rhombus is ; (R.E.B. 2003)
(2} 240 em® b} 300 em? (&) #E0 em? id) 480 em?
The length of on¢ diagonal of a rhombus is 805 of the other dingonal, The area of the
rhombus is how many times the square of the length of the other diagonal ?
4 2 4 1
&) 5 (b} 5 (el r - ry
If & square and a rhombus stand on the same hase, then the ratio of the areas of the
square and the rhembus is :
(@) greater than 1 (b)) squal to 1 il aqunlln% {d) equal m%
The twe paralle] sides of a trapesium are 1.5 m and 25 m respectively IT the
perpendicular distance between them is 6.5 metres, the area of the trapedium is :
{a) 10 m? (b 13 m? (¢} 20 m® {d) 26 m®
The area of a field in the shape of a traperiom measures 1440 m® The perpendicular
distance belween its parallel sides is 24 m. [f the ratio of the parallel sides is 5 : 8,
the length of the longer parallel side is : (8.5.C. 2004)
(a) 45 m (b 60 m {ch 75 m (d) 120
The cross-section of a eanal is trapezium in shape. The canal is 12 m wide at the top
and 8 m wide at the bottom. If the area of the eross-scclion ia 840 sg. m, the depth
of the canal is :
al 895 m () 42 m {oh BE m idl 84 m
The area of a crcle of radius 5 is numerically what pereent of its circumference 7
ta) 200 (b} 225 {ch 240 () 250
{8.8.C. 2000}
A man rung round a circular Geld of radius 50 m at the speed of 12 km /he What is
the time laken by the man to take twenty rounds of the field 7 (M. AT 1257
fa} 30 min. (b} 32 min (e} 34 min. (d) Mone of these
A cow ie tethered in the middle of a field with a 14 feet long rope. If the cow grazes
104 5. ft. per day, then approximately what time will be laken by the cow o groze
the whole feld ? (Rank PO. 2003)
(@) 2 dovs (bl 6 days ich 18 days
() 24 daws (¢l Mone of these
A circle and a rectangle have the same perimeter. The sides of the rectangle are 18 em
and 96 em. What is the area of the cirele ¥ (Bank PO, 2004)
(=) 88 em? (b 154 em? (g} 1250 em®
{d) Cannol be determined {¢) Moane of these
The circumference of a circle, whose arca is 24.64 m?, i= : (E.R.B. 2003)
la) 1464 m (B] 1636 m Lok 17600 m {dh 1840 m
If the circumference and the area of a circle are numerically equal, then the diameer
is equal to (8.8.C., 2000}

(@ 5 (b) 2= (o 2 (d) 4
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The difference betwesn the circumference and the radive of & circde is 37 em. The area
of the circle is : (Beetion Officers”, 2001)

{a) 111 em® ib} 148 cm?* (¢ 154 em? (d) 2585 em?

The sum of areas of two ciredes A and B is equal to the area of a third cirele C whose
diameter iz 30 cm. If the diameter of circle A s 18 cm, then the radius of eircle B is:

(&) 10 cm (b} 12 em (& 15 em (d)} 18 cm
Between a square of perimeter 44 cm and a cirele of circumference 44 cm, which figure
hag larger aren and by how much ? (8.8.C. 2000}
{a) Both have equal area (b} Square, 33 em?

{¢) Circle, 33 cm? () Sguare, 495 cm®

A wire can he bent 1n the form of a circle of radivs 58 em. If it iz bont in the form
of & equare, then its area will be : (R.E.B. 2002)
{a) 8520 em? {B) 840D em? lel 7744 em?® (d) 8800 cm®

A wire when bent in the form of a square encloses an area of 484 5q. em. What will
e the enclosed area when the same wire is bent into the form of & cirele ¥

(&) 462 £q. em {b) 539 sq. cm (e 616 sq. cm {d) 683 #q cm

(8.5.C. 2002) .
A circular wire of radius 42 em is bent in the form of & rectangle whose sides are in
the ratio of & : 5. The emaller side of the rectangle is {8.8.C. 2004)
(o) 25 cm (b 30 con (¢} 3G em [d) B0 em

There is a rectangular tank of length 180 m and breadth 120 m in a circular fleld.
If the area of the land portion of the field is 40000 m?, what is the radius of the field ?

{a) 130 m (b 135 m () 140 m (dh 145 m

The areas of two aircular felds are in the ratio 16 ; 49, If the radios of the [atter is
14 m, then what i& the radiug of the former ¥ (IGNOU, 2003)
{a) 4 m (b 8 m (el 18 m (dy 32 m

If the ratio of areas of two circles is 4 - 9, then the ratio of their circumferences will
he - ({R.R.B. 2008)
(a) 2 -3 (B3 : 3 ich 4.9 fdh 94

The perimeter of a circle is equal to the perimeter of o square. Then, their areas are
im the ratio :

ia)4:1 (b} 11 : 7 (ck 14 : 11 (d) 22 - 7

The diameter of a wheel is 1.26 m. How far will it travel in 500 revolutions ?

(a) 1492 m (b) 1980 m (ch 2580 m () 2BB0 m

The number of revelutions o wheel of diameter 40 em makes in travelling a distance
of 176 m, is : (B.5.C. 2003)
L) 140 (k) 150 (ch 160 idh 166

The radius of a wheel s 0.25 m. The number of revolutions it will make to travel a
distance of 11 km will be : {(R.RE.B. 2003)
{a) ZBO0 (b)) 4000 () 5600 (dh 000

The wheel of an engine, T% metres incircumferenee makes 7 revolutions in & seconds.
The speed of the train in km per hour is :

{al 130 (b} 132 (c) 135 ()} 150

The wheel of a metorcyele, 70 em in diameter, makes 40 revolutions in every 10 seconds.
What Is the spead of the motorevele in km /hr ? (R.R.B. 2002)
(a] 2232 (b) 27.68 (el 31.68 (dl 3624

Wheels af diameters 7 em and 14 cm start rolling simultanegusly from X and Y, which
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are 1980 cm apart, towards each other in opposite directions. Both of them make the
same number of revolutions per secand If both of them meet after 10 seconds, the
speed of the smaller wheel is : (M.A.T. 2003)
{a) 22 em /) zec (b} 44 em/sec i€} 68 cm/ see (d} 132 emJ Bec
A toothed wheel of diameter 50 cm is attached to a smaller wheel of diameter 30 em.
How many revolutions will the smaller wheel make when the larger one makes 15
revolutions 7

{a} 18 (b 20 (€] 25 (dl 30
Find the diameter of a wheel that makes 113 revolutions to go 2 km 26 decnmetres
4 4 4 B
1] 413::1 I:ME“ m () 12_11 1] o} Eum
(5.8.C, 2003)

The front wheels of a8 wagon are 2z feet in circumference and the rear whesls are i
feet in circumference. When the front wheels have made 10 mere revolutions than the

rear wheels, how many fect has the wagon travelled ? M.B.A. 2003)
{g} 30n {b) 80w (o) S0= id} 150w

A arcular ground whese diameter is 35 metres, has a 1.4 m broad garden around it.
What iz the area of the garden in square metres 7 (3.B.L.LPO. 1993)
(al 160.16 {b) 176.16 (ch 196.16

(d} Data inadequate ted None of these

A cireular garden has a circumference of 440 m. There is a 7 m wide border inside the
garden along its periphery. The urva of the border is
(&) 2018 m? (b 2021 m? {c) 20924 m?2 (d} 2926 m*

The areas of two concentric circles forming a ring are 154 sq. cm and 616 sq. cm, The
breadth of the ring is :

(#) 7 cm (b 14 em (e) 21 em (d) 28 em
A crcular park has a path of uniform width around it. The difference between puter and
inner circumferencos of the cireular path iz 132 m. Its widih is - (5.5.C. 2003)
(&) 20 m (bt 21 m (ot 22 m (d) 24 m

A circular swimming poal i3 surrcunded by a concrele wall 4 . wide, If the area of
11
the concrote wall surrounding the pool is 7% that of the poal, then the radius of the

pool i ; (Asgistant Grade, 1998)

{al B it (b} 16 M (e 200 £t (d} 30 ft

The ratie of the outer and the inner perimeters of a circular path is 23 : 22 If the path

iz b metres wide, the diameter of the inner cirde is : (5.5.C. 2004)

(a} 65 m (B 110 m (& 220 m () 230 m

What will be the area of a semi-circle of 14 m dinmeter 7 (NABARD, 2002)

(@) 29 mi (b) 7T m® o 154 m? (d) 308 m? (¢ None of these

A pemi-circular shaped window has diameter of 83 cm. lis perimeter equals -

(&) 126 em (b) 162 em (c) 198 em (d) 251 cm
(8.8.C. 1999)

What will be the area of a semi-circle whoese perimeter is 48 em 7

(a) 154 em? ibl 168 em? {e) D08 em?

{d) Data inadequate (e} Mone of these (B.5.R.B. 1998)

If a wire is bent inte the shape of a square, then the area of the square i3 81 sq. cm.
When the wire is bent into a semi-circular shape, then the area of the semi-circle will
be : (B.8.C. 2002)

ia) 22 cm? (b) 44 em? (& 77T em? () 154 em?
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174.

175.

176.

Quantaative Aplitude

The area of a sector of a circle of radios 5 cm, formed by an are of length 3.5 om, is:
{a} 7.5 cm? (b} 7.76 em? el B.5 em? id) B.75 em?
(8.8.C. 1999)

In & cirele of radius 7 em, an arc subtends an angle of 108" at the centre. The area
af the sector 15 ;

{a) 43.2 em? (5) 44.2 em® (¢ 45.2 em? (d) 46.2 rm?
The area nf the greatest circle which can be inscribed in a square whose perimeter is
120 em, i= : (8.5.C. 2004)
4 2

22 7 22 (9" 2
{a) ?K[E] cm® B _u[”
i) Ex[ls] e’ () E:hc!!llilz em®

7 2 7
The area of the largest circle, that can be drawn inside a rectangle with sides 18 cm
by 14 cm, is : (8.8.C. 2000}
(a) 49 em® (b} 164 em? (&) 378 em?® id) 1078 cm?®
The area of a circle is 220 sq. cm. The area of a square inseribad in this circle will
[T (C.B.I 188T)
{a) 49 em?® {b) TO em? [eh 140 cm® id) 150 cm®

A square is inscribed in a circle whose radius is 4 cm. The area of the portion between
the circle and the square 18 :

fa) (Br - 16} {b) (Bx — 33] (e (16m = 16) id) {16z — 32)
The circumference of a eircle is 100 em. The side of a square inscribed in the circle
is : (C.B.1. 2003)
(a) 50JE em m%m {c}ﬂ-m () I“D‘Em
Four egual gized maximum circular plates are eut nﬂ' from n square paper sheet of
area 784 eme. The greumlerence of each plate 18 : (8.5.C. 2003)
(ay 22 oen (b 44 em [c) 66 cm {d) 58 em

There are 4 semi-circular gardens on each side of a square-shaped pond with each side
31 m. The cost of fencing the eatire plot at the rate of Hs 1250 per metra is :

{a) Fs. 1560 {b) Re. 1af&0 il Rs 3120 idi Bs. 3300
The ratio of the areas of the incircle and circumeirde of an equilateral triangle is :
(g} 1:2 (B 1:3 (el 1:4 (dy1:9

The radius of the circumcircle of an equilateral triangle of side 12 em is :

(&) ﬂ_-m bl 442 em (ch iq-r— id) 443 em
The area of the incircle of an equilntersl trangle ud' gide 42 cm is ; (5.85.0. 2004]
(@) 2243 em® (b} 231 em? ie) 462 em? {d) 924 em?

The area of a circle inscribed in an equilateral triangle is 154 ¢m?. Find the perimeter
of the triangle.

(@) T1.56 cm (B 717 em & T3 om id) T2.T ¢
The sides of a triangle are 6 cm, 11 em and 15 em. The radius of its incircle is :
(8) 32 em [mi:_"&m [d%m (d) 642 em

(M.A.T. 2001



Aron

177.

178.

178,

161.

182,

183,

185.

156.

187.

188,

189,

181,

The perimeter of & trisngle is 30 cm and the circumference of its ineirele is 38 em. The

ares of the triangle is : (8.5.C. 2003)
{a) 70 cm? (&) 140 em® (e} 210 cm® (d) 420 em?

If in a trinngle, the arca is numerically equal to the perimeter, then the radius of the
ingeribed circle of the triangle is (8.8.C. 2000)
{al 1 (b 1.5 () 2 idh 3

An equilateral triangle, a square and a circle have equal perimeters. If T denotes the
area of the triangle, 5, the area of the square and C, the area of the circle, then :

(8) 8« T<C By T=C0<h T8 <C i C<B<T

(C.D.5. 2003)
If an area enclosed by a cirele or a square or an equilateral triangle is the same, then
the maximum perimeter i9 possessed by ! (5.C.R.A. 19497)
(&) circle (b square (2} equilateral triangle

id) triangle and square have equal perimeters greater than that of circle
The area of the largest triangle that can be inscribed in a semi-cirde of radius r, is
{a) A (&) 2 (& A id) 2
(Section Officers’, 2001)
ABC is a right-angled triangle with right angle at B. If the semi-cirde on AB with AB
as diameter encloses nn area of 81 &g, em and the semi-circle on BC with BC as
diameter encloses an area of 36 sq. ¢m, then the area of the semi-circle on AC with
AL ps dinmeter will be :

(m) 117 em® (B 121 em?* (e) 217 em® {d) 221 cm?

If the radius of a circle is increased by 75%, then ita circumference will increase by :

(a} Z20% {b) 50% (e} TE% [d} 1O0T
(G5, 2003)

A ean go round a cirealar path 8 times in 40 minutes, IT the diameter of the circle is
inereased to 10 times the original diameter, then the time required by A to go round

the new path once, travelling at the same speed as before, is : (3.5.C. 2000]
(a) 20 min. (b} 256 mun. {¢) 50 min. () 100 ain.
I the radiue of & cirele ig inereased by &%, then the area is increazed by :
(a) 6% (B} 12% (& 12.38% [d) 16.84%
{(D.M.R.C. 2003}
If the radius of a circle is diminished by 10%, then its area is diminished by :
{a) 1% (b 19% (el 20% [di 36%
{Hotel Management, 2003}
If the radius of o crele is doubled, its area is increased by . (C.B.I. 1998
(a} 1005 b 200% {cl 3005 () 400%
If the circumforence of a circle incresses from 4% to B, what change oceurs in ils area 7
{a) It is halved. ib) It doubles, {ch Tt triples. (&) e quudruples.
(8.8.C. 2000)
Three circles of rodins 8.5 cm are placed in such a way that each circle touches the
other two, The area of the portion enclosed by the circles is : (5.5.C. 2003)
(&) 1567 cm® (b) 1975 cm® i) 19.67 cm® (d} 2121 em?

Four circular eardboard pieces, each of radius 7 cm are placed in such a way that each
piven touches two other pieces. The area of the space enclosed by the four pieces &
(a) 21 cm?® (b) 42 cm?® {€) B4 cm? id) 188 em?
Four horses are tethered at four corners of a square plot of side 63 metres so that they
just eannot reach one another. The area left ungrazed is :

(a} 675.5 m® (b) T80.6 m* (¢ 785.8 m? (d) 850.5 m?

e —— . —— . e e S S - —— — . — ——
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ANSWERS

L) 2 i 3B 4 5@ 6 T & 9o (B
10. () 1L (d) 124 13 idd 14 (B 186 (B 16 (dh 1T (&) 18 (D
19. () 20. (o) 21.(b) 22 (& 28 (¢ 24.(d 925 () 26 (& 2T. (b
2. (d) 29.(b) 30.(a) JL (a) 32 (d 38 0} 84 (b) B8 (& 826 (d
37.(b) 38 (& 3V (a) 40.7d 4L ict 42 (a) 43 (& 44 (h 45 (B
46. (b) 47. (b) 48. (b} 48. (s B60.(cd BL (& B2 (B 53 (a0 B (&)
BE. (a) B6. (b) 57.(b) BB () B5O. (M &80.(B) 6L (a3 62 (& &3 (o
4. () 65 (b) 66. (0 6T.(a) 6B (c 60.{m T0.(@ T7i.(dH T2 (o
. (d T (d 75 T T T8.(hH 79 80.(d 8L (&
82. (k) B3 (d) 84. () 85 (a) B6. (d B7. (0 B8 (dh 80 (K 90. (

Pl (d) B2 (d) 93 (dh 94 (d) 95 (K 96 (a) B7.{(a) 98.(x) 99 (o
100. ict 101. {d) 102. () 103. (d&h 104. (c) 105. (& 108. (& 107. () 108. id)
109. (c) 110. (&) 111. {0 112 {(dh 118. idh 114. (B 116. (& 118. () 117. (K
118, (&) 119. (o) 120. (&) 121. (u) 122, (dh 12B. (B 124. (B} 125. (& 128. (o
187, () 128. () 128, (d) 130. (&) 131. (& 132 (&) 133. (d) 134. (& 135. (B
136. (c) 137. () 186. (d 188, (d) 140. (&} 141 (B 142 (a) 143. (& 144, (B
146. (2} 148. (d} 147. (B) 148. (00 149. (& 160. (&) 161, (& 152 (B} 183, (a)
154. (d) 15B. (a) 1BE. (b) 1BT. (&) 158. (& 150. (b)Y 180. (& 181. (= 1482, (&
163. (d) 164. (a) 168. (d) 166. (b 167. (¢} 168. (d) 189. (¢} 170. (B 171 (b
172, (&) 178. (d) 174. (c} 17B. (d) 176. (& 177. (0 178 (¢} 179. (o 180. (o
181. (a) 182. (a) 188. (a) 1B4. (c} 1BE. {c) 186. (b) 187. (& 188. (d) 189. (&)

1 Area of the floor = (5.5 = 2.95) m® = 20,625 md
Cost of paving = Hs. (800 » 20 635) = Hs. 16500,

2. Let the breadth be b Then, 25x b = 18x 10 b-[
4. Perimeter of the plol = 2.(90 + 50) = 280 m.

Numhernfpa]ﬁz{%]—ﬁm-

18= 10

]-:m = T.2 cm.

4. Let breadth = x cm. Then, leagth = [Ex] Lo ‘:f o

é-lncﬁ"i

g

‘Su.%x—x-ﬂ-ﬁw%:=ﬂﬂ:=[ = 4L

%~  Length = 64 cm, Breadth = 40 em.
Area = (64 = 40) em?® = 2560 cm®.
B. Clearly, we have : /=9 apd [+ 2b = 97 or b = 14.
Area = (I x b) = (9 » 14) 2q i, = 125 sq. .
6. We have : (1 — B) = 23 and 2 (I + b) = 206 or {1 + b = 103,
Bolving the two equations, we get : | = 63 and b = 40,
=~ Area = (I x b) = (63 x 40) m® = 2520 m®
7. Let breadth = x metres. Then, length = (x + 20) metres.
Hﬁm-[ﬂ]m-ﬂﬂﬂm.
26.50



10.

1l

14.

17.

ﬂliliﬂ]]i;ﬂ-muExtﬂﬂ-lm-ﬂxrﬂ'ﬂﬂl-ii
Hence, length = x + 20 = 60 m.
{ 80 3x
Let length = x metres. Then, breadth _Iﬁi metres = 3 metres.
kS

L LA ol 16x
an'neter-{ﬂtn-—-ﬁJ_.m- [--5 ]m.
16 _[BOOxST

= =800 = I_|. = ]_25&

So, length = 250 m; breadth = 150 m.

- Area = (250 = 150) m® = 37500 m?.
[

=B

I~

w Er

-% = W oe e o =2 =

1

N 2
i
x&]m* LU0 m.

B .

Perimeter = Listance covered inHmin.r[

Let length = 3x metres and breadth = 2x motres.

Then, 2 (3x+ 2x) = 1600 or x = 160,

& Length = 480 m and Breadth = 320 m.

5 Area = (480 x 320) m¥ - 153600 mo.

Let breadth = x metres. Then, length — (x + 5) metres.

Then, x (x+ E) = 760 & 22 +6x—-To0 =0 o= (x+ 30 (x-25)=0 & x=-26
Length = {x + 5) = 30 m.

Let breadth = x metres. Then, length = [%]muﬂ.

1156z

460 x 1007
XM o0 = 460 & :jn[—

= 400 =& =20
118 )
We have : | = 20 ft and [b = 80 sq. ft. So, b= 34 0.
Length of fencing = {1 + 2h) = (20 « 688)' L = BA M

3";*’]-% o HeShush w Gh=dl = ﬁ--:d'.

Then, Area = 216 em® =5 [ x b= 216 = .tx%I:zlE = PF=334 = |=18cm.

We have ; 2b+ /=30 m =30 =24
Area = 100 m2 = [xb=100 = b(30-2K=-100 = M -156+80=20
= (b-100b-51=0 = h=1i0orb=35

When b= 10, ] = 10 and whon &= §, I = 20.
Binoe the garden is rectangular; so its dimension is 20 m = 5 m.
Let length = (3x) metres and breadth = (4x) metres.
Then, 3x x dx = T500 & 122 =TH00 = X =525 = x= 25
S, length = 76 m and beeadth — 100 m.
Perimeter = [2 (75 + 1007 m = 350 m.
& Cost of fencing = Ha. (025 » 350) = He. B7.50.
Required perimeter = {AB + BC + CP + PQ + QR + RA)

= AR + BC + (CP + QH} + (PQ + RA)

= AE + BC + AB + BC = 2 (AB + BOC)

= [2 (8 ¢+ 4] e = 24 cm.
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1B. Let the areas of the two parts be x and (T00 = x} hectares respectively. Then,

1 (700 -
I:—t?ﬂﬂ—tlltgr[ﬁf_‘ﬂ.] e Tx=T0] = 7O = =x = 384

-
&o, area of smaller part = (700 — 385} hectares = 315 hectares.
19. When folded along breadth, we have - 'J.'(%+b]-!='lnfi+ﬂn31 L)
When folded along length, we have - 2[!‘4 %}- 38 or U+ h= 28 el 1)

Selving (i) and (if), we get : [ = 14 and b = 10,
Ares of the papar = (14 = 10) em?® = 140 cm®.

20, Lt breadth = x metres. Then, length = [gzl“ melres
A

Arva =(§xl[l}l:rﬂ-] m®,

3 2 1 2
—xxz=—xl = ¥ - =
2 3 0000 o .1.'”-9 00 4= = a_nlm.

unﬂm=%r=[gﬂa:¥k]m}m—mﬂm.
g ;ﬂ.ﬁmnfmurl.yard] (2500 = 1600
21. Number of bricks [ o 1 brick \ " 20x10 ] 20000,
_ (Tetal cost| _ [ 8100 X
a3 Llangt-h:ll'thaﬂrpﬂ—[n.“rmlj-[ T Jm 1580 m,

A A S . e O s i [lﬂﬂxi}m 135 .

Area fl:'ﬁ
Breadth of -
tha room = [L' IJ klﬂ }m 7.5 m.
157 (o) 225 81
28, Othor side = 'i'] “[E] r= 258 ‘{..._ Y

M‘mnfthtdmal-:tﬂxtﬁ}:q.ﬂ-ﬂ?;q.ﬂ.

24. Let breadth = x em. Then, length = 3x em.
D30 < (BVI0F = 102 2 640 = P =84 = x=8
B0, length = 24 ¢m and breadth = & em.

Perimeter = [2 (24 + 8)] cm - 64 cm.

gy O LT N Sy %:a T\ %=Jﬁ=ﬁu§.

g R

2 (1+ b =46or |+ b=23 Also, Ib=120,
Dinganal = % + 8% = [+ 87 - 25 = (237 - 240 = 288 = 1Tm

27, JE +5® = A1 or £+ 8% = 41 Alss, b = 20
U+ bR =s(F+ P +2b=41 +40=81 = (J+ b =49.
Perimeter = 2 (1 + bl = 18 em.




a0,

3L

b

I
Length of diagonal = |52 %Jm =13m.

Sum of length and breadth = I:ﬁﬂxg1m = 17m.

A

-,||F4b3-13m-.["’+b?=159md.!+b-1?.

1
Area -&-Enzm +—E‘1luvml’-n=~rh‘ﬂ=%i:m’—1ﬂ51=%¢359-1ﬂm-m m®.

We have : Jb < 60 and 2+ 5% « [ = 5.
Now P+ =(5b=IF = M4F - 10b=0 = 24 - 600 =0

= Madf = b=Bb

F_{%]m=12m. o, length of the carpet = 12 m.

Let length = (3x melres and broadih = (2x) metres.

Then, (3x ¢+ 5) x 2x = 3600 = &2 + 10x— 2600 = 0

= 3+ 8x-1300=0 & (Jx+65(x-2) =0 = x=20
Breadth = 2x = 40 m.

Let breadth = x ¢m. Then, length = (x + 8) ¢m.

x+Blx=(x+18l(x—-4) & P +Br=r+ 1lx— B0 = x=20

So, length = 28 em and breadth = 20 cm,
Lot length = x metree and breadth = ¥ metres. Then,
E+LDilp+D=x=21 = x4+ y=2
And, xp=lx+ 1}(y=11=5 &= x—yp=6
Solving (i) and (if), we get : x = 13 and y= 7.
Sa, length = 13 m ond breadth = 7 m.
Perimeter = (2 (13 + 71l m = 40 m.
Let original length = x metres and original breadth = 7 metres.
Original area = (xp) m2.
i1
MNow Im-[%r‘lngg;r]m;ﬂmhmnhhr %]]m':{
i
Mew Area - ;._%”{Ef] ! - [i::}]nk

&
11 1
Increase® = [.—- T W rlD[I]'!- = dd4%.
25 xy
B 11D 4 b
N = | — —b
L [Wn IIHI] [E 10 ] [25 J

1

. n
Required pereen 2 | = gh i — = :
q pi Lage [2511 ub:ltl.ﬂl.'l]'i i8%

Let original lengih = x metres and original breadth = y metres.
Original area = {x) m?, !
120

HNew length = [l:g ﬁ'mﬂ[2 ]m“ﬂhﬂlfﬂ-{ﬁj}mﬂ[

A

w i)
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Quantitative Aptitude

: 5
Mew area -[%.IFEJ-\:.NE l[%ljimﬂ-
o

a"
2o

Increase = | 5 -il'm:m.
:Jf} 5

Let original length = x and original breadth = ¢

§ BO a0 i8 T
Dwcreass - —[— i ]-[ . ]:.-_. !
in area = xy !W:“IW? z¥ ‘EE# EE#

=

Let original length = x and original breadth =

Decrrase = [-.‘r-:}rxlxlm]'i = 2%
25 xy

Original area = xv.
Wt :Iauth-:;h; Hﬂhrﬂd‘lh-a}'.ﬂmﬂrﬂﬂl[gx&p]-g_ﬂ,
e 1
lnm%r{—qx—:lt}ﬂ]ﬁ- S0,
2 ¥
Lat original length = x and original breadth = »
Then, original area = xy.
-
A [{mu-rn 3 :]runs”:u 7 r] ) l[lﬂ.ﬁﬂﬂ—ﬁr—r!]ﬂ]
100 L 10 100}
WE00-5r-F ) 5 = o
[l_}:y-mlnr:tﬂr-ﬁm-ﬂuirq-iﬁi[r 200=0 = r=20.
Let original length = x and original breadth =
Then, original ares = 5
lemgth-%-i—r.hlmﬂhﬁdﬂa-z-
']‘hm..%:-cz::.:r =3 ;:E’.;__

i
Decrease in breadth -g%u%xlm]ﬂ- = 371,
L

Let original length = x and original breadth = »
Then, original area = xv.

= 130 13x 13x A i::r_
NMeow length = — x5 & —. New breadth = y. New area & | —— x & z
w00 " 10 ¥ {m ¥I*"

ldxy
Required ratio = [—E—]

Area of the sheet = (20 « 30) =m® = 800 em?,
Area used for typing = [(20 = 4) = (30 = 6)] cm® = 354 em®

Required percentage = [%x ]III]‘!: = G4%.
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47,

48,

Aren of the mat = [(15 - 3} x (12 = 3)] &q. £t = 108 gq. £t
Cost of the mat = Rs. {108 = 3.500 = Rs. 378,
2 {1+ b = 340 (Given).
Area of the boundary = I + 21 ch+ 20 — Ib] = 2(F + &) + 4 = 344,
Cost of gardening = Rs. (344 = 10) = Re. 3440,
Ib = 96 (Given).
Arca of pathway = [{f ~ 4) (b — 4} - [b] = 16 — 4 { [ + b), which cannot be determined.
3o, data is inadequate.
Let the width of walk be x metres. Than,
20-2x (10 -2x1 =96 e 42 +60x— 104 =0 = x4+ 16x—26=0
wm (x-1Hix-2=0 = x=2 ' x=13]
Area of crossroads = (55 % 4 + 35 2 4 = § % 4) m® = 344 m?
elling = 75 )
Cost of grovelling R&(MxlmJ
Area of the park = (G0 = 40) m? = 2400 m® Area of the lawn = 2109 m?
Aren of the crossroads = (2400 = 2109) m® - 251 m®.
Let the width of the road be x meétres. Then,
Blx e dx -2 =201 e 2 -100x+291=0 = (-IMix-3=0
e xxd [ ox= 97,

= Rs, 268

Side - JZ50025 = Jooove 505 nem

100 1
_ Tetal ot 1215
Arey T EISEJMMH (05 10000) 2q. wm.

Side of the gquare = SO0 = Z00 m
Pertmeder of the field = (300 = 4) = 1200 m.

Cast of fencing = Ry [mnuu%] - Rs. 900,
i (i

'ﬁmnirhnﬂ'lhnﬁwnqulrmm‘ﬁ -:E}[ﬂ] {E]. [E] ie., 6 em, B em, 10 em,
Lafia 4 i 4

19 cm, 20 cm.

~ Aron of the now square = [62 & 8% + (100 + (1002 + (20)9)

61

= (36 + 64 + 100 + 361 + 400) em® = DEL ¢m®.
Bide of the new square = JO81 em = 31 em
Perimetor of the asw sqoare = (4 % 31) cm = 124 cm.

00 =« 300
Number of marbles = [m] = 2126,
Area of cach glab = {%] m! = 144 m?

Length of each slab = yldd m = 1.2 m = 120 cm.
Arca left after laying black tiles = [(20 — 4) = {10 — 4)] »gq. ft = 06 =q. ft.

Area under white tles = [%xﬂﬁ] pg. ft = 32 aq. fi.
Area under blue tiles - (86 - 32) sq. ft = 64 sg. M.

B
2xD S

Mumber of blue tiles =



&

Quantitative Aplifude

Length of largest tile = H.CF. of 1517 cm and 902 em = 41 em,
Area of each tile = (41 » 41) em®,

Required number of tiles = [w] = B14.

41 = 41
Length of the room = (7 + 7) m = 14 m. Breadth of the room = 7 m.
Area of the reom = (14 = 7) m? = 98 m2
Bide of the square = 12 cm. Ares of the rectangle = [(12 ¥ 12) - 4] em? - 140 amE
Kow, arca = 140 cm?, length = 14 em.
aren 140
T g o
Hence, Perimeter = 2 (J + b = 2 (14 + 10) cm = 48 cm.
Let the side of the square be x em. Then, its area = ¥ em?,
Area df the rectangle = (32%) cm?.

-ﬂlx-g-x:- A o x = 3

. Sid!nfl.himl.m:%m-'.!ﬂm

2(l+ Bl =80 = I+b=40 Now, (20 % 20) = b= 100 e /b= 200

U—b) = 14+ 5P — 40 = J40 = 201 < (4 % 300) = Y300 = 20.

Now I+ bad0and = b=20 = [ =230 and b = 10,
Sides of the rectangle are 30 eam and 10 cm.

_— _ Total cost 10080

C Costper m 20

m = 504 m,

Eidenlihpswamri::i-m—liﬂq,

Breadth of the pavement = 3 m.

Side of inner square = (126 — 6) m = 120 m.

Area of the pavement = [(126 » 126) - (120 x 120)] m® 128 =

= [(126 + 1200 (126 - 120)] m? = (248 x 6) m?

s Cost of pavement = Rs. (240 = 6 « 50) = Hs. 73800,

Let ihe length of the auter edge be x metres. Then, length of the inner edge = (x - 6] m.
F=(x=6F=176d o & - (F— 12¢+ 36) - 1764 = 12x=1800 e x- 150
Required perimeter = (4%} m = (4 » 150) m = 600 m.

Let the side of the square be ¥ metres. C B

Then, AB + BC = 2Zx metres,

AC = 2 x = (14ls' m
Saving on 2x metres » (0.58x) m.

: 0.5
ﬂm-'lm'*=[ B

o 100]*1 = 30'% (mpprox ).

Speed of the man = [4&4%] m/ e = -1-; m /B

Time taken = (3 x 60) sec = 150 sec.
i i
Length of diagenal = (speed » time) = L%xl&]}m:ﬂmm

Area of the field = é:{dimm!]’ = _“' xiﬂlﬂrﬂﬂﬂ]m‘ = 20000 m?,

1.-5-' 4



Area

8. dwfIxl = z=%,:._

I'urimalernﬂﬂm—.[%;gx%Jm-ﬂhEm

64. Side = J69696 om = 264 em.
& d = o2 xuide = (264 x JZ) o= (264 % 1414) em = 373296 cm.

B5. Arca = (45 x 40) m? o %Hiiﬂqm.hi i 000 s dingunilio S0

B, Letbreud:hhe:metrs-Thm,m:lﬁd::[%:}r%m

Required n-Lin--[Ek:x—l—'-E'..'S.
| B XHE )
67. A square and a rectangle with egual areas will satisfy the relation p; < py.
68. Take a square of side 4 em and & rectangle having | = 6 em, b= 2 em.
Then, perimeter of square = perimeter ol rectangle.
Area of sqoare = 18 cm?, area of rectangle = 12 em?.
A>H

B3 Ty = 42 cm = area = %d‘,? = %r[d-&f = 16 em®,

Area of new gquare = (2 % 16) em? = 32 em?,
1
Edﬁgaﬂﬂ i dizaﬁd- uﬂ--qf:rnﬂﬂ:l'..

90, Plorpuived rabls = =Sy« S M Fo 8
) WNZar 2o 2
T1. Let the diagonale be 2d and 4.

Ll L
= x (2] 4a? 4

Then, ratio of their arcas = £ = F=-=4:1
!'\.'":di d 1
2
T2 o' 235 _(5” e _15 da _ 4x15 15

26 mEE B 16T Ab  4x16 16
- HRatio of perimeters = 15 : 16
T3 Area = 1 hect. = 10000 sq. m = side = 10000 m = 100 m.
Side of the other square = 101 m.
Dhifference in thelr areas = K101 = (1000%) m®
= [(101 + 100) (101 - 1000 m2 = 201 m2.

T4, Let the sides be x em and %1 = ?:-:—- o,

L
g
anuﬁmdmtm-" IE=5I:4.

2

2 1.1
Th A;=zx"and Ay = | =x |
W2

1_'|:'E= 1.&1
4 4



528 Quantitatve Apiitude

TH. Iﬂﬂﬂnmmdu 102 em.
= (100 = 100} cm? and A, = (102 = 102) em®.
Lﬁ.l Ay) = [(102F = (100P] = (102 + 1000 x (102 = 100) = 404 cm®.

_ ahs

100 = 100

T7. Let origingl area = 100 em®. Then, new area = 168 em®.
= Original side = 10 cm, New side = 13 em.

Percentage error = [ ™ ml:l\]q- = 4,M%.
. | L
Increase on 10 em = 3 em. Increasze™ = lﬁx I_{H,'.It":l'—. = P0G

7B, Given diagonal = d. New diagonal = %d’.

3
! : T "B g1 "9
= : =4 —_ —=4"E'-
Roquired ratic EJ = 2
T0. Let length = | metres and breadih = met.res. Then, original area = (}b} m®
I'hni-rI.-.:J:mi;hu--[:I-IIZI‘}n':nl.i':li'lnx-_E F]m-Em-
|, 1HD 5
130 1 135
= {1 af b m | —— i -
New breadth = {130% 151 [Hmn-crjm _mm
718 (81 Y 3 a1 A
= — = | — o | - -t = —Ib.
New ares [Ex IDJ [mm‘lﬂ NETEARD i J =0

rﬂxﬂbx—xlﬂﬂ}%:ﬂiﬁ'—.
| 5D ]
B0. Let original langth of each side = x em. Then, its area = (x%) cm®.
Length of rectangle formed = (x + &) ¢ and its breadth = x cm.
235 .3 & el0-3 w x=10
x 2
Original length of each gide ~ 10 em and its area = 100 em?
B1, Let original side s x cm. Then, new side = (x + &) cm.
(X+5P =2 =168 & £+ Wr+25-L =165 = Wx=-140 & x=14
Hence, the side of the sgquare iz 14 cm.
82. Let the lengths of the line segments be x cm and (x + 2) cm.
Then, (x+ 2¥ =2 =32 & 21 dv+4-2=32 s dx=-28 & x=T7
Length of longer line segment = (7 + 2} cm = 8 cm.
£3. Let the length of each gide of the square be x cm.
Then, length of rectangle = (x + 5) em and its breadth = (x - 3) em.

"

(r+B){x=-2 =2 o L+2x=-16=3 ¢+ x = %’-

Increage® =

Length = [lg*ﬁ]m = -E-E'E:m, breadth = [l—;ra]m = %ﬂ'ﬂ

(25 9

Hmﬁu,ptrlmﬂﬂ-ﬁ!l}hb!-i -

Jom < 31 em



Area s2e

B4. Area to be plastered = [2 (I + B) = h] + (] = b}
= [[2 (25 + 12) = 8] + (25 = 12| m*
= (444 + 3000 m? = T4d mT

Cost of plastering = Rs. [Tuu%].m.nm.
S, Aitnnfimlls--lﬂﬁ+b:lxh|-[2{1ﬂvﬂuﬁjmil:'l'ﬂ:lmﬂ,
Area of 2 doors and 3 windows = [2 (1 = 3) + (2 x 15} + 2 (1 x 1.5)] m® = 12 m®,
Area to be painted = (170 - 12) m% = 158 m®.
Cost of painting = HRs. (158 x 3) = Rs. 474
B A, =21+ by b A, =202]+ 20 x2h=80+ b =xh=dA,.
Required cost = Bz, (4 = 475) = Rs. 190:.
87. Let kh = 2x metres and (J + b) = 5x metres
Total cost _ 260

o O = I

p Wl o2 .. 2
Amﬂth:upu—[laﬂxm]m = o m*,

Total area of 4 walls = (65 + 15) m? = A0 m?.
B+ Bixch=580 e 2Zx5xx2x=H0 « =4 = x=2
Height of the room = 4 m.

&8, A,=[%x15:12}m’-_mmf-,uz;i.al:l,aumﬂ.

%x‘zﬂnhzlﬂﬂ w h =18 em.

B9, aom 5, bw 12 and ¢ = 13. S0, r-%tﬁ#lhlﬁ]m-lﬁm.

Arsa = J15x10x 3x2 = 80 cm’.

1
Eﬂ! 12« Hemght = 30 = Heght = 6 eom.

20, .ﬁ.u%kﬁuuxlhci:ht i dDIBMhéHBlHHH:ﬂ'L = Height = B0 em.
91l. Let Base = 3x cm and Altitade = 4x cm.
'I‘h-m.%xaxrlxrll'i'ﬁ e 126° = 2352 4+ 20 =196 = % = l4em.

Altitude = (4 x 14} em = 58 cm.
02 Since 55 + (12% = (130, o, it is a right-angled triangle with
Base = 12 cm and Height = 5 om.

Area -{lxlﬂxﬁ-ﬁl et = B em®.
L2 }

- 3 e e |
. Ratio of gides = — : —: == 6 : 4 : 3.
S N 3°% 3
. |r 6 [ 4 B
Perimeter = 52 cm. So, gides are [ 52x — | em, |52x — | em and | 52 x — | em.
i 13) L 13 13/

Aa=2em b=168em, =12 em.

Length of smallest side = 12 cm.



B4,

100,

Cuantitative Aptitudea

Lot & = 3x em, b= 4x em and e = 5x cm, Then, 5 = Gx cm.

h:g".':li:—u}#:—!l".ll:s-d= Brxdr=2rxx = (Ar') o
6% =215 = M6 e x- 6
a=18 em, b= 24 cm and ¢ = 30 cm.
Perimeter = (18 + 24 + 30) om = 72 cm.
Ecdem, b= omand 6= 5 em_
It is a right-angled triangle with buse = 3 em and height - 4 em,

¥
lis area = %xﬁnq‘i exr® = B e’

i
-ﬁre:dd'r:qmredh‘inn[k-i -F:'ﬂ‘lm:!=:r-'l112

bl | i

Let the sides be & cm and 22 em,
Then. 2% + (2aP® = (10F & 587 - 100 = 2 = 99,

Area = Exnx‘iﬂJ = a® = 20 em?,

Let Base = b cm and Height = k em.

B+h+28=80 @@ b+h=34 o (b+ hP = (34 |

Also, B + b2 = (282 i)
(b4 b2 = (B + %) = (347 - (26 <> 2Bk = (34 + 26) (34 — 26) = 450

o bl = 24D e %bh- 120,

Area = 130 em?,
l.ﬂt-_lhbﬁdﬁhﬂﬂms.ﬂlﬂitrlﬁudbmm. H
Then, Eﬂ*-ﬁ=ﬁ+3-d@mdbi-¢2+azaﬂn= = b= J2a

b
2+V22=6+32 w a=3i i
m-{lxsnﬂm”-a.sm*.
2 J A a B

Let the emallest side be 1 cm.
Then, other sides are 13 em and (17 - ¥ cm,
L-ul:.l:w,&-::ndrrﬂl'ln;].smszlﬁ.

Armea = Ja(s-alls—bilz-c) = V5= 2x (15— x)(z -2

& Wxlls-Dix—2=(30" = (I5-2(x= 2} = 30 = 2 _1Tx+60=0
= (x=120(x—8)i=0 = =12 or x = §,

Emallest gide = § em.

b
Area of an equilateral triangle of side 4 cm = [gﬂz]m:_

i P
ﬁ# r 3
Tﬂ 'Eﬂﬁ#—}ﬂ"%ﬂﬂhiﬂ'gm.

Perimeter = 30 = 12J6 em.



. Area to be plastered = [2 (1 + Bl = K+ {] = b)
= {2 (25 + 12) x 6] + (25 = 12}} m?
= (444 + 300) m? = Tdd m?.
Cost of plastering = Rs, mx%]—mm_
. Area of d walls = [2 (] + B) x &] = [2 {10 + 7) x 5] m® = 170 m%
Area of 2 doors and 3 windows = [2 (1% 3} + (2% 1580 + 2 (1 = L.5) m? = 12 m?,
Area to be painted = (170 - 12) m? = 158 m®.
Cost of painting = Re. (168 x 3) = Rs. 474.
Ap= 200+ b x By Ay =2 (21 + 2b) = 2k = B (] + bl » h = 4A,.
Required cost = Re. (4 x 475 - Rs. 1800.

. Let b= 3x metres and (] + b = Hx metres,

Total oosl 260
Length of the paper iota o 18 g W 130 m.

Area of the paper = [lﬂﬂx lilt:’] - E5m”.

Total area of 4 walls = (B5 + 15 m® = 80 m®
2+ b xh=80 e Zx5xxx2x=80 = .l.ir-l- - E=d
Heght of the room = 4 m.

A, = [1x15x12|m’ . 90 . A, = 24, = 160 em?,
2 i

;wiﬂwﬁtlﬁﬂ oK 18

a=5 b=12 and e¢= 13. S0, 5 = %{E*I‘E*]ﬂ]m = 19 ¢m.

Area = f15% 10% 3% 2 = 30 cof".
%xlixHaz-lnht=30 = 'Height =

.5-%!E=.u-xl{eight = '“:'HHI.Hl':;HElHHHEiI‘El = Height = 80 em,
. Lot Base = Ox cm and Altitude = 4x cm.,
'I'lun,%:.‘ﬁl.t:#r-lt?ﬁ e 127" =2352 &= 1* =196 = x = ldcm,

Altitude = (4 x 14) om = 58 cm.
. Binee 52 + (12 = (187, =0, it is » right-angied triengle with
Base = 12 ¢m and Height = & cm,

Am-[lxlﬂx-ﬁwlml:=3ﬂm1z.
E: F|

’ Itnﬁﬁaiﬁdu-l!lzl-s:.lz:i.
2 8 4

Perimeter = 52 cm. So, sides are [M”]'EE] m.:fﬂ::—ﬂ]mnﬂd [-‘rﬂ*—l "
|

a=Momm b= 16 cm, ¢ = 12 ¢m.
Length of smallest side = 12 om.



Args 51

101. Let each side be & em. A

i ]
Then, [%] #(10P = o = [uz—i—a] = 104 8
aa” g 400 Y
b T = 100 &= O = 'E'—- .

43, 2 (B 400} 2 100
Jlrra-——li-xui-[T‘-r—Em]:mEh P

102. Let each side of the triangle be 3 em.
Then, ar (A AOB) + ar (ABOC) + ar (4 ADC) = ar {A ABC)

=5 %uaxﬁ+%xuxﬂﬁféruxﬁf = lr—u:

Y P—ﬁ{llEJ—Eragn? = aax g

Ferimeter = (3 x 16) = 48 em,
104a. L:llh!:udeuflhelmlnglebea‘]‘hm

|2 3
m.:ﬁﬁi-ﬂxixi_—g -r?—.-..ﬁ‘
4 | H 3 3

104. Area of a square with side g - 22 8q. units,
Aren of o triangle with base g = [%xux.&J &, phite,
=

o =%:u:r:-c.i: I

Henee, the altitude of the triangle is 2@

105. Let the side of the squire be 2 em, E
Then, the length of its disgenal = 2 g cm. D
Area of equilateral triangle with side V2a - g: (¥2a)? L}
=
/3 o %

=T_

-
H-:quimdn'r.in:‘"i“ :d’l-uE:E.

n E L
1068, Area of rectangle = b $4q. unils.
Area of the triangle = l-i!bsq- units.
Required ratip = b : EHI 2: A [
107. Let each side of the triangle be 2 em and sach side of the square be b cm.

Thm.H-%u and‘i"-b{whun&n-d&:e b—:ii

3 82 T Ha
:"Z Tﬂ' and Y E l- '!'—T-J



108

110

11L

Cuantdative “Apliude

2
ow, ?u:‘ - %’Eu* - 0433 a? and -E:‘? = 0.5825 a7,
H<¥.

Let the side of the square be & cm. Then, its diagonal = +Z & em.

HNow, »E-::n.lzﬁ = &= 1% cm.
Perimeter of the square = 42 - 48 em_ Perimeter of the equilateral triangle = 48 em
Each side of the triangle = 16 om.

Area of the triangle = [$HEH 1s]m* = (5443) em?.

1
ki,

37
bxhy, = ay EL_'IE
Hence, b, : by, = ay : bx.

Let the sides be x cm and (30% of 7) em = 0% gy

]

v3 .tﬂ, final area = %[E]z = E—"i

::':'- [Rlﬁﬁﬂfhﬂl—gpﬂllhufblsn=::y-!

Then, initinl area = -—
] 10

urirg lﬁ'-uErg] g 843 * 3

D i .| — r — — = :
crEdse In area [q 00 J:m o0 o

Mm-[ﬂﬁxﬂ TL mjaa 365

Let initial base = b cm and initial height = h em. Then, initial ares -{%b&] em’.

[ 1406 em = [_'i_'._t-‘g.

New base = (140% of &) em = L 5}¢m

- m.r;‘l {3k

ew height = (B0% af &) om = ﬁi,l”‘“ — | o,
L

J'l T Zh (a1 -y
Hﬂuﬂ.sz?xE]m-ﬁEMJmﬁ

LT = [ X52)
Aron decreased [EM mb.&]mz [_Eﬂﬁhjmz'

_[4bh 2 )
ﬁmntmwn-[ﬁ o lﬂﬂ}'} 18%.
112, A;-%ﬂ=md.ﬂg'-ﬂzi{ﬂh:'!=lﬂjgﬂ2-ﬂ|-

113.

K=4
Area of [gm - {Base x Height) = (18 « 8) em?® = 144 cm®.



Aren B33

114. Let ABCD be the given |jgm. D g
Area of [gm ABCT = 2 = (area of A ABC).
Mow, 2 =30 m, b= 14 m, ¢ = 40 m.

(30 + 14+ 40 m = 42 m.

I ||

Area of AABC = TG -0l (s-Blls=0) o BEmPs 2D

= J12x12228%2 mf = 168 mf.
Hence, area of lgm ABCD = (2 x 168) m? = 336 m?2,
115. Let ABCD be the given [|gm.
Lot AC = 70 cm.
Draw BL L AC and DM L AC.
Then, DM = BL = 27 cm.

Area of l[pm ABCD = ar{A ABC) + ar (4 ACD)

= [{%x’mx!?]-a-!r%xﬂlwﬂ?” 8q. cm = 1800 =q. em.

L

116. Let the altitude of the triangle be h, and base of each be b.
Themn, %nhm‘n, = bx hs, where b = 100 m
e by o=2h = (2x 100) m = 200 m.
117. Let cach have base = b and height = b, Then, P = bxh R = bxh, T = %xbxh

54:,P=H.F=ﬂandT=%Hnr¢ulmnmmtmnmu.

118, %d.xu&-l:-ﬂ = %“ﬂll{l!dﬂ-mu = dy = 30 em,

118. :}:d:l;-.aa'l =25 o d =25 o= & =5
Sum of lengths of diagonals = (5 + 100 cm = 15 em.
120. Perimeter of the rhombus = 55 m. Eadh side of the rhombus - % m = 14 m,

Height of the rhombus = 5 m.
Area = (14 = &) m? = TO m?.

121. Area = %dln’g = [éxﬂd %10 em® = 120 e

J n [
ﬂﬂ.—ln‘ = iﬁ:iﬂ.]cm'lﬂﬁn
R ;
ﬁH=]d = l:-:11:: em = 5 ¢m
- R L % Al B

AR =0A" + OB =(127+ 831 =160 = AB= 13 em.
Perimeter = (19 = 4) cm = 52 e

122, AB=26 cm and AC =48 em == m:[;xdﬂjmum oI

OB? = AB? - OA? « (260 — (24 = (26 + 24) (26 = 24] =100
= DB=00cm = BD =2 x OB = (2 « 50) ems = 100 em.

A.rta=%xﬁUKEDn[%K!HxIW]mzz’Hﬂﬂnﬁz.
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g
123, d.:k%xd,] - u-]:"—:ﬂ_

ﬁmufrhmqu-%-@i;:[ixﬁ;ﬁxd;}=§lﬁgﬁ
124. A square and a rhombus on the same base are equal in area,
125 muftmm'mn-[%n{h5+lﬁilxﬁﬁ] m® = 183 m?.

128, Area of field = [%u{au 3.:]:-:3!] m? = (96x) m®.

$ixr = 1440 = x =
Hence, the length of longer parallel side = (5x) = 75 m.
127. %I:uum of parallel sidss) = depth = [tz area

- x = B

1440
b

. é{li-rﬂ-]ndwzhu v o

:
128, Required® = |22 . 100 la - 250%.
2AanG
5 10
189, Speed = 12 km/br = [IEHE] mis = 3 m s

Thistanoe covered = [Eﬂxﬂxﬁxﬁﬂj M o= 7 1,

vy bt e

Time taken =

Iﬁm=[ﬂﬂmwﬂ]u=[’ﬂﬂ3n{i lJmin

Bpeed T 10 7 B0l
20 . -~ .
7 min = 31? min.

130. Arca of the field grazsd ={%x14t11] sq. f = 616 sq. £

Number nrdarﬁtukmmmﬂmﬁu]d-%d.upuﬁdm {approx.).

.ltﬂtld.l:m
Fl

131. xR = 2 ([ + B = SxH=2(06+18) ctn o= RI[ESE

5
ﬂmurmmm-:ﬂh(%xu:u o = 616 an®.
4

192 nB? = 2484 o R“=[5"£“

:u'.'l‘JlT_Sd. & R=J784 = 28 em.

Ciltu:;ﬂntnu-[ﬂﬂ%—ﬂxiﬂ]m-l'?.ﬁﬂm
183. 2nR=2R? = R=2 = 2R =4 Hence, dameter = 4.
134. BB-R =37 e [%_1}11.37 - BRal

Area af the circle n[%:-ehr'?] em® = 154 cml.



Araa ) B35

185. nR,? + xR¥ = ;B2 o+ RP+ RF-R? o ©F + B2 = (154
o RF=(15F -0 = 144 = Ry=12em

136. smnrmm-¥mfn an

Aren of the square = (11x11) em® = 121 em®,
IR = 44 = EH%:{R-H = Re=17em,

oo
Mﬁﬂﬁrd:-nﬂzn[gr'?x?j em® = 154 em®.

Area of circle is larger by 33 em®,
b
137. [.mgthn!m-hxﬂr[ﬂx-?ﬂﬁjm-ﬂﬁim

Side of the square = ?m:ﬂﬂ:m.
Area of the sguare = (88 = BR) em® = 7744 em?
138, Side of tha square= /484 em = 22 em. Perimeter of the pquare = (22 = 4) cm = B8 cm.

¢

IR = B8 e EEE?E::R-H-E- - Rhlﬁﬂx&)hldm-

Required area = =R% = [%xuxld] em’ = B16 em®.

i

139, hﬂﬂm:m:iz:?xlﬂqurﬁﬂd 25

5,

Perimeter of rectangie = 2 (6x + 5x) em - 22x em.
Px= 264 o x= 12
Bmaller gide = (5 = 12} cm = A0 om
140. Total area of the field = [(150 = 1204 + 40000] m>
: = (21600 + 40000) m* = G1600 m®.

AR? - B1600 & RE = [Emnni%] . (400 xTxT) m

= Rei2 e Tim= 140 m,
L 2
18 R
ul_ ﬁi-_ = —I-.-_-=E
Rty 49 4x14) 49
2 14 = 14 = 16

R
= 48

By 4 R 4
m'ﬂ:_ﬂmgﬂlrs Ry 3 2akt,
Reguired ratio = 2 : 3.
143. Let the radius of the given circle be K cm and the side of the square be 4 cm.

Then, ZnR = 4a = E;f
| iy
- o T T DU G O A ;
mwdmr'”“:F'l”;?l"kEﬂ.'H=""”'



144,

145.

146.

147.

148,

149,

161.

Cruantitative Aptibsde

Distanee: eovered in 1 revolution = 22R = [Ex%x D-.EE} m = E .
Distane covered in 500 revolutions = [?—!:xﬁl}ll] m = 1980 m.
Dhstance covered in 1 revolution = 2R = !Ex%xﬂ] cm = H_g-_[! Cm.

Required number of revolulions = [Hﬁm}x F:U'J = 140,

Distance covered in 1 revelution = 2= = [ﬂu?x
Required number of revolutions = |rl'lm¢|5-| %] = TODO.
k.
Distance covered in Qﬂi‘.-:[?ngfxl:x Jm: 330 m.

Djj[anutmvﬂedinlm--aaﬂm_ug-m

=
: f110 18
Required speed = Ik_ = | km{hr = 132 km/hr
a3 ]
Distance covered in Iﬂuc-[ rEx—xwﬁm‘:BEm
T 1 |

Distance covered in 1 sec = %m-ﬂ.ﬂ fny.

Speed = BEm/z = [Esxg] km/hr = 31.68 km/hr.

Lat each wheel make x revelulions per sec. Then,

[[hx%x!]-}[h:?:t}]bﬂlﬂ = 1980

22 22 ]
= [THTH:]-[EM ?KTR;I-]E-E = Gfxr=198 = x=4.
/

22

Distanee moved by smaller wheel in 3 revolutions = [Ex T xﬂ:] em = 66 om

Speed of smaller wheel = % miz =22 m/s.

Distanee eovered by smaller wheel in 1 revolution = (2% x 15) em = (30%) em.
Distance covered by larger wheol in 1 revolution = (21 » 25) em = (50n] cm.
Let & »30n « 16x G0=. Then, Je-|1"’—”-5ﬂ'J-25.
o
-+ Required number of revelutions = 25,
Lot the dismeter of the whoel be d metres,
Distamee eovered in 1 rovalution = (nd) m,
[Diztance covered in 113 revolution: = [118%2d) m.

22 y 7 1) 4
113 — = = 23510 = d - |298x10x W = B .
7 g1 119} T



Araa

162. Let the rear wheel make xrevolutions. Then, the front wheel makes (x+ 10) revolutions.

153.

154,

165,

157.

(x+ 10 xB3r=xuxdxr &= 3Jx+30=2x = x=30
Distance travelled by the wagon = (2r x 30) ft = (B0m) Mt
Radiug of the ground = 17.5 m. Radius of inner circle = (17.6 = 14} m = 18.1 m.

Area of the garden - 7 = [(17.5F - (16.17] m? = [—:-: (17.5+ 16.13{17.5 - mn] e

= [%x 336« 1.{] m® =147.84 m’,

f
ink = 440 &= 1::-21-2:-:11-44:[!- = HE= 44D3;1-Mm.

h Fi

Inzide radiog = (70 = Tl m = 83 m.
Area of the border = = [(TOF — (637] m?
= [E?—zxfmvr‘.m[m-ﬁm“ m = 2926 mt,

7
Ry’ = 616 = R, —{EIEHE)—HE ¢ R, =14 cm

mR =154 = RP= |rlﬁ-hr—||-49 &= Ry=Tem.

Breadth of the ring = (R - Ryl em = (14 - 7l em = 7 em.

Ik, - MR, =132 & MR, -R)=132 = l“'_n’:l:[zxﬂ”'?
Required width = 21 m.
Let the radius of the peal be R fi. Radius of the pool including the wall = (R + 4) fi.
Area of the concrete wall = = [[R+4F -R*] aq 1
=[R+4+HRIE+4-Rlj2q ft = Be(K+2)ag ft

hm;_m-&ﬂi 11R? = 200 (R + 2) = 11R? - 200K - 400 = 0

25 -
= 11R? - 220R + 200 - 400 = O
= 1IH{R -2 + 2 (R =200 =10
= (B=-20)011R + 201 =0 « R=20.
Radiuz of the pool = 20 ft
=R, 23 R, 23 2%
=R, 2 T R 2 T

Also, Ry - B, =5m = %E_RE.E e R, = 110

Diameter of inner circle = (2 x 1100 m = 220 m.

159, Area of the semi-circle = -;[l;"* “:-:T:u:'.fxTJm: = 1Tm",

160, Perimeter of window = :R+2H-|$x§+ﬁajm- (99 + 63) em = 162 em.
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162. Let the rear wheel make xrevolutions. Then, the front wheel makes (x+ 10} revolutions.

153.

155,

157,

158,

158,

(x+ 10 x3w=2xdn & Jx+ 3 =27 = x=130
Distance travelled by the wagon = (2x x 30) ft = (80=) ft
Radiug of the ground = 17.5 m. Radius of mnner arele = (176 - 14l m = 18,1 m.

Area of the garden - = = [(17.50% - (161 m*—[z—fxm'-m 16.1){17.5 - m.n] e

=[2—T2 x336x 1.4] m =14T7.84 m".
3 b

PR = 440 4= zx?frn-un - R-[Hﬂni - m

s
Inzide radivg = (TO = 7] m = 63 m.
Area of the border = n [(T0) — (637¥] m®

4 [%:am»,ﬁ:nxﬁﬂ-ﬁa]] of = 2925 mP,

&
nRy® = 616 & R, = [Elﬁx 'E] =196 ++ Ky = 14 em.

nH," = 154 e H.-f-(lﬂx%]:-ﬂ e Ry=Tom

Breadth of the ring = (R, - Ry em = (14 - Them = 7 em.

IR, - 2nR, =132 & 2x(R, - R,) = 132 = t:rq-i:r.,h[%ﬂ]:m m.
Reguired wndth = 21 m.
Let the radius of the pool be R ft. Radius of the pool including the wall = (R + 4} fit.

Aren of the concrete wall = = (R + 47 - R?] sq. £t
=r(R+4+R)(R+4-Fl] o ft = Bei(R+2)sq it

11

En{mm-ﬁxﬂ‘ MRZ =200 (R +2) o 11R? - 200R - 400 = 0

11R? - 220R « 20R - 400 = 0
11R (R - 20) + 20 (R - 20) = 0
@ (R=20)(11R + 20) = 0 ws R = 20,
Radiuz of the poal = 20 f.
2R, B R B

T I —, (=1 (=1 :E
oaR, 22 R, 22 e B T

Algo, By - R, =6m = %—Rzﬂi & R, = 110,

I B |

Chameter of inner arcle = (2 = 1100 m = 220 m.

; Y
Area of the semi-circle _%ﬂf - [%x%iu T m* = TTmt.
i

22 B3

160, Perimeter of window -:Rtm-[?r?¢63]mam&rﬁﬂ}m- 162 em



181.

152,

164,

165,

166,

167,

188,

189.

Given:nmR+2R =38 = (n+21R=38 & R:i m-[g%] om =T Cm.

Hequired area = 7R° = [mﬂ-r'?‘l em? = 164 em?.

l.ln;t.huf:uh:ldtufththum:{ﬁ:m:ﬂ:m.
Length of wire = (% x 4) cm = 3G cm.

aR+2R =36 = (n+2R =368 = H=i=1'-:.m.

=

5

(1 49

Area of the semi-cirde = %T"H-? - lix?x?x 'J'J em? = 7T em®,

Area of the ssctor = [;HIRHH] = [;xﬂ.ﬁx E] em® = B.76 em’,

= 462 em®.

=R (22 ‘lﬂﬁl

Arca of the secior = ﬂﬂﬂ =[T :mrlﬁﬂﬂf

Eﬂeﬂim:nquurt-%mwmm

\
Radiue of the ruqdrudd:du:(-;akﬂﬂ}mzls —y

Area of the required circde = [nx (157%] em’ = [.E?EH iw‘F] em?

r 3
Radius of the required cirele - |lg.-=: 14| em = 7 em.
! 4

, 2z Y s
,ﬂmu‘f‘tl‘h&ﬂfﬂclr-: HTRT}{'—I:‘I" 154 ﬁTI-z-

(R |

e
X

N Lot

)

T

Y =220 & R?= hﬂ[hr

Now, B = %rtdiagm:mlﬁ e diagonal - 2R

Aren of the square = ?i-:-ci-l:]jlg-:lnlll=

1 ]
-HHH?I = 2R? = (2% T0) an® = 140 cm®.

Given R=4cm. R = %nfdjagnnll of the square) & diagonal = 2R = B cm.

Required area = nﬁ’—lxlaﬂ = (R 16 - 32) = (16 - 32) cm®.

1l:l'ﬂ' &0
MR = 100 e H'E'F'

2x50 _ 100

1 d 3
R = == dia I | = 2R =
= = gonul isgana 3 x




838

2

ﬁrﬂﬂﬂflhusquam:l:{di“m]}l=l“fln_ﬂﬂ1

2 2 | x)

z
2_1_[100 oo 1 100 505

i 8 [ﬂ] - :IE- x T e

170. Zide of square paper = J184 em = 28 e, ?___-“n -\I

4

Radius of ench cireular plate = (%HH| em = 7 em.

&

Circumference of each dreular plate = [2! ?x'?‘l' em = 44 em,
A
171, Length of the fince = 4xi. where R = "*; -

-[4:-:E:x%J m = 132 m.

Cost of fencing = Ha, rliﬂx EE] = Rs. 1660

h

G D

172. Radius af incircle of an equilateral triangle = —°
o5
Radius of eircumerrcle of an equilateral triangle %.
i ik

2

; . f2r
red ratig = — — = — ;= =] :4,
Required rati T 3 5 1:4

173. Radius of circumcircle = —= = 4= cm = 443 em.
J3 5
2
174. Badius of increle = T“ -2—4..' « 78 em.
T 2 3 5 Cm Em

Area of incircle = [%x 4% x 3] em® = 462 em’

2
175. Radius of incircle = —. A of incirele = [ﬂ el =
ﬂi e | 12 €
2
154 5 12 = 7
— = | 2 . it = 14403,
12 M o= o Py = o 1 -.||-
Perimeter of the triangle = (3 x 144/3) em = (42 % 1.732) em=72.7 cm (approx..
176. We have : a = 6, b= 11, ¢ = 15. 5 = %tﬁ—l.‘iflﬁrr— 18,

Area of the triangle, A = J18%10=5%1 = 2002 e,

Radius af incrcle = E e . g
2 1A 4
i 1
177, Let the radius of incircle be r cm. Then, 2w = 38 = r:|aﬁx%x%j=ld.

Semi-porimeter, 5 = [%] cm = 15 em .

Area of the triangle = r = 8 = (14 x 15) em® - 210 em?,




178. Radius = Ared -—-[ﬁl"-'-lif'_ =32

Bemi-perimeter

178, Let the perimeter of each be &

181,

184,

Then, side of the equilateral tr.ia:ng]e-%; gide of the square = —;
radiue of the drele - %.
1 2 2 2 2 2 2
T,E,[EJ .ﬁa_;s_[ﬂ_J ==_;¢.“[1J LB
4 \a 36 L4 16 n r 88
S50.C»*»5=T

Let the area of each be a
Then, radius of the :ir-.-_1==—‘::':: side of the square = Ja:

a4

i
Perimeter of the eircle = 2¢ %:25:2,.':n+xu = 2x17a = 154a.

gide of the triangle =

Perimeter of the equare = 44a;
Perimeter of the trisngle = M,hf“m = 3x 231z = 3= L62T = 45605
oM

Clearly, perimeter of the triangle is the greatest.

Heguired area =%mb¢mrhui;ht-[;:-:ﬂrn ]-r'ﬂ. &
3
x [AC n. A = AR?+RCE r
H’“‘u"‘d"“"?”;g] uix 2 _Ex_:l_

n
- —

m — w2 o] - 81 = 117 em®.
2 L4 4. )12 Ex 9 =

A T O r B
[gﬁj{@\_;x,’aﬁ‘lﬂx [B.;

- Lot onginal radius be R cm. Then, ariginal circumference = (22R} em.

New radivs = (175% of R} em = [-115- HRJ em = Ll cm.
100 4
Hew circumference = [i:‘!: T{E] o= EZE CTik.

Inerepse in droumferencs = {%_m] om = ia?, .

Inl 1 1
ln:reuﬁ-[ ® — w 100 % = TH&E.
2 Zni J

Let original diameter be d metres. Then, its circumfersnce = (zd) metres.
Time taken to cover (Bnd) m = 40 min.
New diameter = (10d) m. Then, its circumference - (R = 104} m.

Time taken to go round it onee = :ni—uxlthﬁ1! m = & min
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185. Let the original radius be R cm. New radios = [%EJ“‘" - (%J ..

Original area = nik2
Inrrease I anen = o Eﬂﬂ] TFRE' = :IT.H? l| 55 ] ﬂﬂiu-ﬂ}a {ﬁﬂltl
GO

2500
; =0° (103 = 3 "]

2500
In&ﬁmﬁ={:ﬂixmn 1 w100|% = 1238%,
, 2500 wR: 3
186. Lot the original radiue be B cm.
Nawr&ﬁua:(ﬂﬂ%ufﬂ}m:[ﬂxﬂ. m:ﬂm
10 10

Original area = nf2

Diminished area = [-rr.!"l:2 n HI;] ]m“ -[(1—%)1‘:]1]&3 = [%ﬂl} emn®.

I
L :n-:'.-]m = 19%

1 qR®

187. Let the onginal radius be B em. New radius = 2R
Original area = B2, New area = 1 (2R)® = 4nRE,
Increase in area = (4nR? - xR%) = 3nR2.

Decrease® = [

g
Increase® = [Eﬁl:t? ¥ ]ﬂﬂ]‘ﬁ = A
188. InR,=dm and 2RR, -8z = R, =2and Ry =4
= Original ares = (dn x 2% = 16n, Increased area = (47 « 42) = Gin.
Thus, the area quadruples,

189. Fequired aren = (Ares of an equilateral & of side 7 cm)
- {3 = ar of geclor with B = & & r=35 em)

*[[ﬁxr;ﬁ'}]—{ﬂ-rﬂ:ﬂ 85 % 45 -'E."f-]
4 7 360
_"as.l"é
w

1

190. BRequired area = [‘H x4 -4= g

cm®

~11%05x 35} an® = (21217 - 19.25) an® - L9687 cm®.

::ETE:.;'.I';.-.T] e’

= (196 — 154) cm® = 42 cm’.

191, Required m:r{ﬁawﬁﬂ & : 2_:_* %xﬁ—:}miaﬁm.ﬁ =

— e — — — — —— — — s |, (e e S Emm




HE_ Chuantitative Aptilude

EXERCISE 24B

(DATA SUFFICIENCY TYPE QUESTIONS)

Directions (Questions 1 to 11) : Each of the quastions given below consists of a
statement and/ or 8 question and two statements numbered | and II given below it. You
have (o decide whether the dais provided in the statements) is/are sufficient to
answer the question. Read both the statements and

Give answer (a) if the data in Statement I alone re safficient te apswer the
question, while the data in Statement IT alone are not sufficient to answer the quostion:

Give answer (b) if the data in Staiement IT alone are sufficient to answer the
question, while the data in Statement | alone are not sufficient to answer the guestion:

Give answer (¢) if the data either in Statement I or in Statement IT alone are
sufficient to answer the guestion:

Give answer (d) if the dats even in both Sistements I and II together are pot
suffietent to answer the guestion;

Give answer (¢) il the data in both Statements I and I togother are nosessary bo
engwer the question.

1. The arca of a playground is 1600 m® What iz itz perimeter ? (Bank PO, 2003)

I It is a perfect square playground.

11. It costs Rs. 3200 to put a fence nround the playground at the rate of Re 20 pier
metre.

2. What is the area of the rectangle 7
L. The ratio of the length and the breadth is 3 : =
IL. The area of the rectangle is 3.6 times its pErimeler.

4. Area of a square is equal to the aren of o circle. What is the circumference of the cirde
L The diagonal of the square is x inches.

II. The side of the square iz ¥ inches. (2.B.1I.EO. 2003)
4. The area of a reclangle is equal to the area of a right-angled triangle. What is the
length of the reetangle ? (Bank PO. 2003)

I. The base of the trisngle is 40 em.
Il. The height of the triangle is 50 cm :
6. What will be the cost of gardening a strip of land inside around a circular feld, at
the rate of Rs. 85 per sqg. metre ?
L The area of L field is 1386 =q. metres.
1. Breadth and length of the field are in the ralm of 3 : B respectively,
6. What is the area of the rectangle 7 (Bank BO. 2003)
I. The difference between the sides is 5 em.
I1. The measure of ite disgonal is 10 em.
T. What is the area of the circle ?
L An arc of length 4 em subtends an angle of 60° at the centre,
I1. A chord of length 5 cm subtends an angle of #0° ay the centre,
B. What iz the area of the circle 7 (NABARD, 2002)
I. The circumference of the circle is 308 m.
I1. The radius of the circle = 28 m.
9. The area of a rectangle is equal io the area of 2 circle. What iz the leagih of the
rectanghe: ?
L. The radius of the circle is squal to the breadth of the rectangle.
Il. The perimeter of the rectangle is 14 em more than that of the cirde.
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10. What is the height of the triangle ? {Bank P.0. 2002)
L. The area of the triangle is 20 times its base.
L. The perimeter of the triangle is equal to the perimeier of a square of side 10 em.

11. What will be the cost of painting the inner walls of 2 room if the rate of painting is
Bz, 20 per squarc foot 7 (Bank B0, 2000)
l. Circumference of the floor is 44 feet.
IT. The height of the wall of the room is 12 feet.
Directions (Questicas 12 te 15 : Each of the guestions below cons'sts of a question
followed by three statements. You have to study the question and the statements and
decide whicZ of the statements) is/are nocessary to answer the question.

12. What is the area of rectanguolar fisld ? iBank EO. 2004)
[. The perimeter of the ficld ia 110 metnes.
II. The length is & meires more than the width.
lIl. The ratic between length and width is 6 ; 6 respectively,

(a) I and II only (&) Any two of the three fel Al [, 11 ‘and 111
{di I, and either [1 or 111 only (¢} None of these
13. What is the area of the hall 7 {Bank PO. 2003)

[ Material cost of flooring por square metre iz Re. 2.50,
Il. Labour cast of fleoring the hall is Hs. 3500.
ITI. Total cost af Nooring the hall is Hs. 14500,
fa) 1 and I only (b} IT and 31T only (ch Al I, IT and TN
idi Any two of the three (e Bone of these
14. What is the length of the diagonal of the given rectangle 7
I. The perimeoter of the rectangle is 34 cm.
I1. The difference betwern the langth and breadth iz 7 em,
1. The length is 140% more than the breadth.

(a) Any two of the three (b All 1, IT and INI (ch I, and either IT ar TTT
{dl I and IT only {ed 1 and T17 only
16. What iz the cast of floaring the rectangular hal] ? (R.B.I. 2002)

[, Length and breadth of the hall are in the respective ratio of & @ 2.
Il. Length of the hall i3 45 m and cost of flooring is Re. 86 per &g m
Il Perimeter of the hall is 160 m and cost of flooring is Rs. 85 per sq. m.

(a) T and 11 only (bl Il and III omly let 111 only
() 1, and either I or 111 only (@ Any two of the three
168. What is the area of a right-angled trinngle 7 (8.B.1.RO. 2000)

I. The perimeter of the triangle iz 30 cm.

IL. The ratio between the base and the height of the triangle iz 5 : 12
I, The area of the triangle is equal to the area of a rectangle of lengith 10 em.
(a} I and II only (b 1 and 1 only (& 1 and IT only
() I, and either [ or [1 only (& None of these

17. A path runs around a rectangular lawn, What is the width of the path ?

I. The length and breadth of the lawn are in the ratio of 3 : 1 respectively
II. The width of the path is ten times the leagth of the lawn.
[11. The cost of gravelling the path @ Ks. 50 per m? is Rs. 8832
{a) All 1, 11 wmd 11 (&) 111, and either [ or II (el T and I only
(gl 1 and [ only (¢l None of these



544 Quantiative Aptitude

18. What is the area of the isosceles trinngle 7
I. Perimeter of the isosceles triangle i= 18 metres.
II. Base of the triangle 1 § motros.
11l Height of the triangle is 3 metres.
(g} T and 11 only (53 II and I11 only (¢ | and III only
td} 11, and either 1 or I only (& Any two of the three
Directions (Questions 19 to 22) : Each of the questions given below is followed by
three statements. You have to study the question and al] the three statements given to
decide whether any information provided in the stntementis) is/are redundsnt and
can be dispensed with while answering the given question.
18. What is the cost of painting the two adjncent wallz of a hall at Rs. 5 per m? which
has no windows or deors ? {S.B.1LPO, 2001)
l. The area of the hall is 24 sg. m.
II. The breadth. length and height of the hall are in the ratic of 4 : 6 5 respectively.
IT1. Area of one wall i 30 sq. m.

@l I anly ib} 1] unly ie) 111 only
(dh Either T or 111 (et All I, 11 and [II are required
20. What is the area of the given rectangle 7 (Bank PO, 1999)

L. Perimeter of the rectangle is 60 cm.
1. Brendth of the rectangle ia 12 em.
III. Sum of twe adjacent sides is 30 em.
(a) T only (b} 11 only (ed I anly
(dl T and II only (e) I or TI1 only
21. What is the area of the given right-angled triangle ?
I. Length of the hyvpotenuse ie 5 cm,
Il Perimeter of the triangle is four times its baze.
1L One of the anglee of the triangle s 60°.
(a) 11 only (B III only (el 11 or I only () 1T and ITT both
(& Information given in all the three statements Logether is not sufficient to answer
the gueslion,
22, What will be the cost of painting the four walle of a rosm with length, width and height
6m. 3 mand 8 m respectively 7 The room has one door and cne window,
L. Cost of painting pér sg. m is Ra. 25
II. Area of window is 225 sq. m which is half of the area of the door.

I Ares of the room iz 15 2q, m {8.B.I.POQ, 1905)
{a) 1 enly [h) 11 only (e 11 omly
(d} 1T or IIT only 1) ALl L, 1T and 11 are required

ANSWERS

L i{c 2 (& & e £ (d & (@ 6. (sl 7. 0a B (&
Bfed 10.1a) 1Lich 218 (M 18 (0 14.(a) 15 (a 16 (a)
17. {a} 1B.id] 1% il 2D (& 2L () 22 (&

1. Area = 1600 m®
I Side = J1800 m = 40 m. Sa, perimoler = {40 = 4) m = 160 m.
I alone gives the answer.



Total cost F20H)
IL. ﬁﬂmﬂlﬂ—m —Tj-:la--mi 160 m.
Il alone gives the answer.
s Coreect answer is (2
2. I Lat | = 3x metrez and b - Zx metres, Then, area = (B2 m2

II. Perimeter = 2 {3x + 2x) m = (102} m.

8r® = 38 = 10z & zh@-ﬁ-;l@.—r.ﬁ.

I=18m and b= 12 m and 5o ares éan be obtained.
Thus, I and 11 together give the answer,
» Correct answer is (o).

3. 1 Area of the circle = Area of the square = %xﬂ #7. mches.

1 x? r
= W‘z = .'l:'E FE J— = .
g llh ven
v Circamference of the circle = Znr, which can be obtained.

I alone gives the answer.
II. Area of the circle = Arca of the square = §# 5q. inches,

= 'l.l'ﬂ = Ny M= JI :
g ¥
Circumnference of the circle = 2rr, which can be obtained,
Thuos, 11 alone gives the answer.

& Correct answer is (c,
4.  Given : Area of rectangle = Area of a right-angled triangle

m [¥b= éxBxH

1 gives, B = 40 cm.

Il gives, H = 50 an.

Thus, to find I, we need b also, which iz not given.
. Given data is not sufficient to give the answer.
t Correst anewer is (d).

5 L aRf =1388 e H.z—[lﬂﬂﬂm%] @ Ry =21m
IL Ry = (21 = 1.4) m = 196 m.
Area = n (R - R) = T (217 - (19.67) m.

Thus, the required cosl may be obtained.
I and IT together will give the answer.
- Correct angwer is (.
8 I Let the sides be x em and (x + 5) em.

lld'—yll{x-rﬂ’r w X+ 6P+ F=(10PF = 29 4+ 10x - TE =

5o 210£4100+600 1044700 1041047 10410228
4 4 4 - 4

Thus, sides and therefore arca may be known,

Thus, both T and IT are needed to get the answer.

+ Correct answer is (g,

=
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22
2x =uR=x&0
[ ]
. - B b e |
7. L Length of arc 0 = ]

This gives R and therefore, area of the cirele = gR2
Thus, | enly gives the answer.

.
ILE R =5 o =25 - H’:%

Y
Aren of the circle = rR? [?n% 51,
J
Thus, II caly gives the answer.
Corvect answer is {g.
i
8. L 3xR=308 + 22 xR=308 « R ﬂﬂ.ﬂn%]-q.ﬂ_
i L

Thus, A = 7H* can be obtained.
I alome gives the answer,
I R = 238 m gives A = [ = 28 = 28) em?,
Thus, 1T alone gives the answer.
Carract answer {2 (g,
8. Given:Ilx b=naR2 A

I gives, R = &, vl
Fm{aﬁand[iﬂ,thﬂI:ﬂiTiLEE‘j::ﬂ. i}
Hgives, 20+ =2aR + 14 = 1+ b=rR+7T7 = J+R=sB +7

= Jla=aR=H+7T

il %n [Using (il

= |=Tn

Thue, T and 1 together give |
v Correct answer is (e

M LASSi=B = %xBnH-EDxEr:aH:-ID.

I alone gives the answer.
Il gives, perimeter of the triangle = 40 cm.
This doess not give the height of the triangle.
~  Correet answer is (a).
11. T gives, 2aR = 44,
Il gives, H = 12,
A= 2xRH = (44 = 17).
Coet of printing = Rs. (44 = 12 = 20),
Thue, | and LI together give the answer.
» Correet answer is (),

3. L2U+0=110 = d+ b= 55,
L i=th+5) 2 lnas
m .8 = - 5l—6b=0

& B
These are three equations in ! and b. We may selve them pairwise.
Any two of the three will give the answer,
= ~  Carrect answer is (b).
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13,

14,

15.

17.

547

[ Material cost = Rs. 2.50 per m?,
II. Labour cost = Ra. 3500.
II. Total cost = Ks. 14,500
Let the sres be A sq. metres,
r. Material cost = Rs. (14500 - 3500) = Re. ll,mn,
%-nmﬂ o= A= '-lm‘:'ﬂ
L
Thug, all I, IT and [1l are needed t&ge’r. the answer,
s Correct answer is ().
L2U+Bim34 w J4hb=iT o]
mil-k =7 i)

240
III. / =(100 + 1400% of B = | Eb-ﬂ
= 100 =-2Mib=0 = &l=12b=0 . FT]
These are 3 equationa in | and b We m:y solve them pairwise.
Any two of the three will give the an wer,
Correct answer is {a),
I Let [ = 3x metres and b = 2x metres.
IL i = 48 m, Rate of Mloering = Rs. 85 per m®
M. Z2if+ b = 160 & I+ b= 80, Rate of flo ring = Ks. E5 per m=.
From T and TT, we get 3x = 48 &= x= 16
w~ I=48m, b=32m == Arca of floor = (48 = 32) m&
< Lost of flooring = Re. (48 = 32 » R5)
Thus, 1 and II give the answer,
From IT and ITI, we get [ = 48 m, b= (B0 — 48y m = 32 m.
S Aren of floor ond cost of flooring is obtained.
Thus, 11 and I give the answer,
From Il and I, we get Ax + 2x= 80 & &Sx=B0 & = 16
i I=18x 18 me4B mand b= (2 x 16} m = 32 m.
Area of Moor and the cost of flooring is ebtained.
Thus, 11T and | give the aaseer.
Henes, any twa of the three will give the answer,
< Correct answer is (&,

From II, base : height = 5 : 12,

Let base = Gx and height = 12x Then, hypotenuse = y(5xF + (12 = 18c.
From [, perimeter of the triangls - 30 em.

s S+ lr+ 13x=30 & x=1
5n,hu=ﬁx-5m;hﬂ;m—12x—lﬂcm.

mm-[ xﬁxlﬂ - 30 em?.

Thus, I and I1 hngr:l.hn e the answer.
Clearly 111 is redundant, since the breadth of the rectangle i= not given.
. Correct answer 5 (al.

Ba3: s 4416 =

Ml gives area of the path = —— 552 L=
11 gives width of path = 10 x (Length of the lawn).
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I gives length = 3x meires and breadth = x metres

Cleariy, all the three will be required to find the width of the path.
Correct answer is (al

18. 1l gives base = B m.

I gives perimeter = 18 m.

III gwvies herpht = 3 m

From 11 and 1, we gat :
begand a + b+ a = 18 and 50 as = 5.

Thus, the three sides are S m, & m and & m.

From this, the area can be found out.

From II and ITI we get : area =[%x333}m¥.

Correct answer is (g
19, From II, let | = 4x b= Bx and b = 5x
Then, area of the hall = (24x%) m®.
From L Arca of the hall = 24 m2,
From Il and [, we get 245% = 24 & x=1.
l=dm b=6mand h = 5§ m,
Thus, area of two adjacent walls = [([ « h) + (b x k)] m? can be found oul and eo
the cost of painting two adjacent walls may be found out
Thus, II1 is redundant.
& Correct angwer is ().
20. From I and IT, we can find the length and breadth of the rectangle and therefore
the area can be obtained
So, 11T is redundant.

Also, from Il and 111, we can find the length and breadth and therefore the area

can be obtained.

So, 1 15 redundant,

. Correct answer ig (e).
o1, E—mﬁﬂ'—i = B =

Al 2

From ] and III, we gat :

n:%m-.h:ﬁmLand!}-Eﬂ'. &

em [ AC = 5 em)

b2 | Ea

A-;ubuinl'}gimthamu-

1 B0
Thus, 1 and H1 give the result. B a C

Il iz redundant,
Agnin, I gives # + b+ c=4a = b+ c=fn = cx%2-5 [ h=5roml)
a* + (3m = B = 26. This gives a4 and therefore c

Mow, area ¢f & ABC = %:-h: % ¢, which can be sbeained.

Thusz | and [l give the area.
111 iz redumdant.
s, Correct answer is (¢l
22, From given length, breadth and height of the room, i3 area can be obtained.
S0, 11 is redundant.
Cormect angwer i (£L
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